I"r-«- Ny 5 s =
Ul UYGE JU Iodl o



COMPANY LETTER l%fﬁ-anrrnm

TO OUR CUSTOMERS, TRADING PARTNERS and FRIENDS,

For more than fifty years, Raritan has been meeting our customer’s needs for
outstanding service and product reliability, establishing ourselves as “The most
dependable name on the water.” Our customers continue to be our focus, and the
source of many of our new products and product enhancements.

The median length of service for Raritan employees is more than 22 years, an unusual
number in the fast changing world we live and work in. It is a measure of the dedication
of the men and women, who design, manufacture, distribute and support Raritan's
products.

Our catalog represents a significant resource for both current and future users of our
marine product line. We have included detailed product descriptions and listings of
their benefits to our end users. Exploded parts views help in identifying products, and
their component parts. The inclusion of parts views enhances our ongoing efforts to
make maintenance as easy as possible. There is also a section containing product
dimensions. All sections are color coded and cross-referenced for ease of use. Over
the more than fifty years of our history, we have always emphasized the maintainability
and repairability of our products.

Our intent is to publish a comprehensive guide to help us sell our products, to help
our customers simplify their product selection and to provide a reference for all of our
products. A product selection guide aids in identifying the best products for various
applications, and a similar selection guide for repair kits helps identify the correct
kit for a given product. The most commonly sold product numbers are listed for each
product, and there is a section explaining the structure of Raritan’s part numbers.

In the tradition of constantly improving our products and product offerings, we are
pleased to introduce product enhancements and a new product line in this catalog:

@ The Atlantes Freedom™ includes a patented bronze and stainless steel macerator
designed to shred almost any object placed in the toilet without clogging. Making
it ideal for commercial applications; it is available with an elongated bowl.

@ We are excited to introduce a new series of Marine Elegance™ Vortex-Vac™
toilets; the four bowl configurations (“standard™ height and “tall” with straight or
slanted backs are available in bone or white).

® The Marine Elegance™ is available in a patented Sea Fresh™ model which allows
the user to select pressurized fresh water or sea (raw) water for flushing; the use
of fresh water before leaving the boat helps clear odor causing marine organisms
from the bowl.

Best wishes for an enjoyable boating season!

o

Arthur J. “Bret” Bretnall, Jr.
President

(856)-825-4900




TABLE OF CONTENTS

bqa SITAN

WASTEITREATMENTISYSTEMS pg. 15
MONITORSJANDISTRAINERS IR THY

CLEANINGJANDIMAINTENANCE Pg. 26
pg. 27
pg. 28
pg. 29
pPg. 34

RARITANeng.com



MARINE TOILETS M
- " " _—__"__.:M -

All Toilets are easy to clean and maintain. Certified Installers NOT REQUIRED. They can be
used with Electro Scan, Purasan or Lectra/San Type | MSD's or Managerm Type Il

= Quite operation, low water consumption and small foot prnt is combined with elegant
looking bowl, Vortex-Vac flush 'te::hnulngy eliminates remote mounted vacuum pump. Choice of three separate
conlrois are available 1o meet customer’s preferences. Unigue mounting system makes installation of this toilet
simple and elegarit,

- Whisper operalion and quiel operation carry many different meanings. Rarilan uses
its years of expernience to produce a series of toilels that not only function better bui also sound better than-any
toilet on the market. We understand how important it is to be on board and flush withou! letting everybody else
know you have just flushed the toilet, Each model can be ordered for remote pump intake of outside water or
for Cgﬂﬁﬂélinﬁ 1o lhe onboard pressurized fresh waler system with solenoid. Models include Allantes Freedom
and Sea Era.

- The Crown Head. first introduced in 1965, remains the first choice among many long time
boaters for its durability. Still used today an many Coast Guard patrol boats because of its durability and ability
o withstand the pounding the boals take, The macerator has been redesigned for improved performance. The
Intraduction of the Crown Head |l allows for quleter operation wilh remole intake pump model for oulside water
+|:t-r freshwater model for connection to onboard fresh water system. Models include Crown Head and Crown Head

- Far those preferring to use a hand operated loilel, Raritan offers several options.
Raritan was the first 10 introduce a dual action purmp in the marine industry. The PHIl remains a standard for
others to follow. Initially designed in bronze the pump later became the largest piece to be injection molded of
Delrin at the time. Models include our Compact |l and our PHII

= Any boat
with an installed toilet must have either a Type | MSD which treats the waste and makes it safe for overboard
discharge, a Type |l MSD used for the same purpose as a Type | bul treals to higher standard and Is typically
designed for vessels over 65' or a holding tank Type [l MSD, All waste waler inside the three mile limit requires
treatment or holding of the waste. A complete list of Federal No Discharge Zones can be found on the EPAweb
site.

- When choosing a marine toilet remember lo look at overall power consumption,
Many manufacturers make claims that the units draw very low amps. A low amp draw Tor a long period of time
means overall consumption may be higher than a unil thal draws more amps.

= Very low water use normally equates to poor performance when removing anything other than
liguid from the bowl. The easier it is for people to use your marine toilet means the less trouble you will have with
iL

Ammp Draw for L g I Dry P By M i ERangased
12 % in amo hr wle fust dischaige Bi sire b Lol
Pump Sokssoid e high uvadabie anvniluble
o i

At bk i afi YES . M YRS S

F imeegicomy

= 4 | f } | YE YES

H

e B D5 28 &N YE& & ¥ES vES B3

Haad il

I ol # f £ L

S23 Erm o D | &t “fn YE || YES YES L

-
amnpact i E 5 E v h

Py L 2ol L YEE ] YES ES WD

f i\ VE ] VE 5

Eugance DR Dd | 5 et iR ¥YES 0N B YES hed

VISIT OUR WEB SITE FOR MORE INFORMATION.
(856)-825-4900



Nerns

Whisper Series

Atlantes Fr

Atlantes Freedom has the only macerator on the market
designed to shred almost any object placed in the toilet
without clogging, ideal for commercial applications.

* Solid 1 piece china porcelain bowl

* Elongated and traditional household
designs available

« A8 models have flush lever operation with
timed flush operation Only marine toilet
on the market that has momentary flush
handle backup in the event electronic
timer fails

* Patented solid bronze cutting blades allows
users to flush household toilet paper and
any commonly used products clog free

« Easily installs above or below waterline
on any vessel

+ Designed for commercial and
recreational vessel applications

* Note: whisper flush feature available with
onboard water solenoid models

* A9 Models have a four function switch
including water saver, dry flush and
normal flush

» Capable of discharging 12 feet vertically.

* A7 models have momentary flush handle
operation without timer, handle offers flush
and dry flush operation

lom§

B AR INE TOIETS]
b - N

P —

Item A812

Model Description

AB812 Regular bowl, White, Handle, Fully integral mtake pump model 12
ABF12 Regular bowl, White, Handle, pressurized waler model 12V

ABAR12 Regular bow!l, Bone, Handle, remole intake pump model 12V

A912 Regular bowl, White, wall switch, fully integral intake pump model 12V
ALB24 Elongated bowl, White, handle, fully integral intake pump model 243

Sample of part numbers see pages 36-39 far complete ordering instructions
To view Atlantes Freedom remote intake pump see page 50

RARITANeng.com




MARINE TOILETS .-h-

Elegance Series

Marine Elegance bowls are available in four
different models: Standard angled,

standard straight, tall angled and tall stralght.
Each model is available in bone or white.

* Quiet operation

* Unmatched rinsing capabilities

* Low water consumption

= Built in shredder reduces clogs

= Unmatched rinsing capabilities

= Built in shredder reduces clogs

* Built in loop design eliminates odors

* Can pump 10ft vertically, or 100ft horizontally

* One piece construction

* Full size toilet seat

« Compact installation

* Unique mounting system allows for ease of cleaning

* Reduced weight while adding additional support where \

needed

* Fully programmable, easy to use control

« Attractive wall mount design

* Flush using no water, little water, or timed flush
« Optional lock out feature when tank is full

N

Models:

Pressurized fresh water Remote intake pump raw water
12 vaolt 220HFD12, 12 volt 220HRD12,

24 yoll 220HF024 24 vaolt 220HR024

SeaFresh - raw water pump and pressurized fresh water
12 yolt 220H5012,
24 valt 220H5024

Sample of part numbers see pages 34-35 for complete ordernng mstructions
To view Marine Elegance remote intake pump see page 50

N

RARITANeng.com



&mnu '4" MARINE TOILES

_—_——

Elegance Series

Mari

Easily switch between fresh or raw water allowing conservation of onboard water while
providing the benefit of freshwater flushing before leaving the boat to reduce odors.
(patented)

Sea EFresh

The Raritan Smart Flush Control is a fully programmable flush control. The control allows

(-

users to flush the toilet with no water, a small amount of water or a fully timed flush. The .

-

timed flush feature can be adjusted on the panel without having to remove any components.

1 “Empty Only” - allows the user to evacuate the bowl while using no water. While the button
is pressed the discharge pump will run, when released the pump stops.

2 “Water Only” - allows the user to wet the bowl prior to use or fill the bowl to a certain
level to minimize water usage.

3 “Normal Flush” - Press the button and walk away. This function brings water in then
discharges bowl and re-fills to leave water in the bowl.

4 “Water Saver” - Press the button and walk away, uses 1/2 the water of normal flush.

The Raritan Smart Flush Control is the most technologically advanced control on the market
today. It offers the user maximum flexibility and control in an attractive wall mount design.
Several programmable features are now available including an optional lock-out when the
holding tank is full.

SMART FLUSH GDHTRGL

; \L
WATER

2 ; ! H'ATER
ONLY

HOLDING TANK FULL ()




——

MARINE TOILETS -hl %m

Whisper Series

* Powerful flushing action with advanced design features

= An excellent replacement for less durable, non-Raritan units

* Low water usage as little as 1 quart {1 litre)

* Bowl can be rotated 90 degrees for mounting in confined
spaces

* Full size joker valve reduces clogs

+ Stainless steel macerating blade

* Household or marine size bowls available '

* Self-priming inlet pump can run dry

= Separation of intake and discharge means dirty water can
not enter bowl if seal fails »

*» Two year warranty :
* Both 90 degree and straight discharge included H

Model Description

160MID12 Marine bowl, integral intake pump model 12V

160MRO12 Marine bowl, remote inlake pump mods| 12V

160MFOD12 Marine bowl, solencid valve model for pressurized intake 12V
160HI1012 Household bowl, integral intake pump model 12V
160HF012 Household bow!, salenoid vaive model 12

Sample of part numbers see pages 48-51 for complete ordernng instructions

:\-.:i; -y !:I- ' ‘]:I'. X - rat

D€ dETlAlcConversionKit

* An economical way to replace your electric or manual toilet

* Save the toilet bowl and seat - just replace the lower base

* Three basic models (all include heavy duty push button) |

* Pressurized freshwater includes solenoid valve and
vacuum breaker

* Seawater with integral pump - includes strainer

* Seawater with remote intake pump - includes strainer

* Intake pumps can be run dry without damage

= Two year warranty

= Both 90 degree and straight discharge included

Model Description
160LR0O12 Lower base conversion, remote inlake pump model, 12V
160LI012 Lower base conversion, integralintake pump model, 12V

Note: Conversion kits come with both straight and 90 fittings.
Sample of part numbers see pages 48-51 for complete ordering instructions

(856)-825-4900




L

%w'm "~ MARINE TOILETS
_—e - .

Classic Series

|

Since 1965, this has been one of our most popular toiletsby , —— =
long time boaters for its durability. g o — e
*» Still used today on many Coast Guard patrol boats y
* Our macerator has been redesigned for improved performance
* Heavy duty motor ensures longevity
« Can be mounted above or below waterline -

| ; \

1

* Includes a deodorant system to control the “rotten egq”
smell often associated with raw water intake toilets

« Household and marine size bowls available
« Integral impeller intake pump

|
|
Model Description \

coai12 Marine size bow! integral inlake pump, 12V \
cwo12 White household size bowl integral intake pump, 12V

Sample of part numbers see pages 40-47 for complete ordenng mstructions

CrownHeat
We took all existing features that made our Crown
Head so popular and added a new look.

* This unit also utilizes either a freshwater solenoid valve or
remote intake pump to supply water to the toilet

*« Can be mounted above or below the waterline

« Household and marine size bowls available

* Quieter operation with remote pump or solenoid valve

Model Description
c2912 Marine size bowl remote intake pump, 12V
c2wa12 White household size bowl remole intake pump, 12V

Sample of part numbers see pades 40-47 for complete ordenng mstructions

RARITANeng.com




'~ MARINE TOILETS %"

Practical Series

FYLER e em =l FDLE [ H

PHII' andfPHEIlI

The most recognized and reliable manual toilets in the world. This manual design PHII is also
available as our PHEIl electric model.

* Household or marine size white porcelain bowls available

= Powerful flushing action with lever type handle

* Air vent allows for easier pumping in the "dry” position

* Pump can be mounted on either left or right side

* Simple, flexible installation for mounting above or below waterline

* Double action piston pump simultaneously draws new flush water as it discharges the
wastewater

» Electric Model can be switched to manual operation within minutes

* Available for 12 or 24V DC operation

= Engineered plastic (Delrin) lasts longer than other plastics

Model Description

PHI Manual Operation, White marine size bowl

PHHEII Manual Operation, White household size bowl

PHEII12 Electric Cperation, White marine size bowl, 12V

PHEHBII12 Electric Operation, White househald size bowl, 12V
PHECKII12 Electric Conversion Kit (manual to electric) 12V, includes switch
PHIIPUMP Replacement Pumg Only

(856)-825-4900



Practical Series

L
PHC
Compact base PH Il Pump

A more affordable and compact version of the PHII, Designed for sailboats and mid-sized
powerboats without sacrificing durability.

* Household or marine size white porcelain bowls available

+« Powerful flushing action

+ Dry pumping is easier because air vent reduces back pressure

* Double action piston pump simultaneously draws new =
flush water as it discharges the wastewater , o

« Can be mounted for pumping on either left or right side [ T ——

—_—
¥’
' 4

Model Description ! 1
PHC PHII Pump, Comipact |l Base, marine size bowl »
PHHEC PHIl Pump, Compact Il Base. household size bowl

Compact U
Raritan's most affordable and compact manual toilel ever.

* Marine size white porcelain bowl

* Fits in small spaces - ideal for small powerboats and sailboats

= Easy and quiet operation - no complicated hand or foot valves

* Simple, flexible installation for mounting above or below waterline
* Conserves water - boaters can switch to dry pump option

*« Can be mounted for pumping on either left or right side — ___'-"‘
T —— # -

-
Model Description '

cPll Compact || Hand Tollel
CPIIRFK Compact Il Retrofit Kil (converts Compact to Compact 11)
CPIIPUMP Compact || Pump Assembly Complete 1
L | -
“

RARITANeng.com




L

SANITATION SYSTEM ACCESSORIES

L»; m}j me

* Sealed solid state timer and solenoid
converts momentary push button to timed
operation

* Adjustable from 1 - 15 seconds for electric
toilets, horns and other timed applications

* RTC rated for 80 amps@ 12Vdc 50 amps all
other

* RTCM rated for 1 amps all voltages

Part # Description
RTC"* Raritime (*specify 12, 24 or 32V)
RTCM Raritime module only (*specify 12. 24 ar 32V/)

*« Use with Push Button Switch to take high current load off
switch

* Reduces need for long runs of heavy wire
* Rated at 80 amps@12Vdc 50 amps all other

Part # Description
cps* Continuous Duly Bolenoid {"specily 12 24 or 32V)

Push Button Switch
* Single pole momentary push button switch
* Rated at 15 amp 12V with resistive load

Part # Description
PBS Push Button Switch

= Single pole momentary push button switch with

protective rubber cover
* Rated at 35 amp 12V with resistive load

Part# Description
164000 Heavy Duty Push Bulton Switch

(856)-825-4900




- -

%" SANITATION SYSTEM ACCESSORIES

Sealect “¥>'Valve
* Provides many discharge options
* 1 1/2” barbed fittings

Part# Description
YV N Valve

* Marine Grade 1 1/2" discharge hose
* Smooth interior allows waste to flow freely

Part#  Description
SH Sanliation Hose (sold by lhe Tool)

Raritan Check Valve

» Stops unwanted back flow of water

* Helps to maintain pump prime

« Installs in a 3/4” 1.D. plumbing hose line
* Not for pressurized lines

Part # Description
RCV Raritan Check Valve

Vented Loops
* Needed for below waterline installations

* Models for intake and discharge
* Discharge loop helps keep water in toilet bowl
Part# Description

VL3/4 Intake Venled Loop 3/4°
VL11/2 Discharge Venled Loop 1 1/2°

RARITANeng.com




~ SANITATION SYSTEM ACCESSORIES @mm

1 4

:';‘:3_,.. E_ @:ﬁ" [ IJ :J-hij-y\ .r} = ]:lJ
Reduces toilet maintenance The Sea Fresh System offers
boaters "the besl of both worlds."The System allows the user to

conveniently select, with the “flip of a switch,” either sea/lake/river
(raw) water or pressurized freshwater for toilet flushing.

« Allows boaters to conserve on-board pressurized freshwater
while underway by flushing with raw water

* Reduces calcium build-up in toilet and plumbing lines by using
pressurized freshwater flushing while dock side

+ Boaters don’t have to stop using their toilets if their on-board
pressurized fresh water supply is low

* Helps reduce or eliminates raw water odors

+* Can be adapted to other manufacturers’ electric toilets

* Available for 12, 24 or 32V DC

* SEA FRESH switch makes it easy to select between raw or
on-board pressurized freshwater. Contact Raritan for correct
model numbers.

ToiletiWateriKit
Toilel Water Kit introduces a small amount of R.C. into incoming

flush water and deodorizes the water as it comes into the toilet
bowl.

* Toilet bowl deodorant

* Emulsifies materials that cause odors

* Lubricates the internal components of the toilet
* Fits toilets with 3/4" inlet lines

Part # Description
TWK  Toilet Water Kit

o N Mo = RN =¥ e g e ey T g S g e

(0)+) idoiletiControlitor,

SeaErafandiCrownjHeadjll

* Designed to provide timed operation

* Provides the user the ability to control intake and discharge
separately

* Can be used on remote pump and pressurized fresh water
models

* Features a water saver feature to reduce the volume of
incoming flush water

* Note: Timer control box not shown

Part# Description
TC12W  Toilet contral 12V, white bezel
TC12A Toilet contral 12V, bone bezel

(856)-825-4900



WASTE TREATMENT SYSTEMS

Raritan was the first com pany to
develop a flow. -?ma%y...JgJJJ system to
treat sewage even prior:to any/legal
requirements!

A flow through system is a tank directly connected to the toilet that treats waste each time the
toilet is flushed, The advantage of Raritan flow through systems is that you are never holding raw
sewage and only a limited amount of treated sewage is discharged each time. Large discharges of
raw sewage, which includes full holding tanks containing chemicals used to control odor, can be
dangerous to the environment.Raritan’s first flow through system was simply a bottle of household
‘bleach that was injected into the treatment tank each time the toilet was flushed killing all fecal
coliform.

Rarltan far exceeds the Federal atanﬂard for waste &Ischarge to help presewe our waters.

RARITANeng.com - 1S



WASTE TREATMENT SYSTEMS
— — ——

elrecorg 4 gean

* The most popular USCG certified Type | MSD

* Power requirements have been reduced by 36 %
each cycle uses only 1.2 amp hours of power

* Generates its own natural disinfectant from
salt water

* Coated electrodes use salt water to kill bacteria
and viruses without using harmful chemicals

* Records each treatment cycle and stores key
information in non-volatile memory that can be
summarized on the LCD display or downloaded
to a PC

= Single button operation is possible

« Can be used with both manual and electric toilets

* Requires sea water salinity or salt feed tank

* Available in 12, 24 or 32V DC

* Sensor for manual toilet available for auto start

part# 31-605 ( \

Treatment Process y ¢

111111 PHASE THREE —

Salrwnter amd

., Unirpatid Waste Emlers

Treammend Uall

Model Description

EST12 Electro Scan, Type | MSD, 12V

ESTDC Electro Scan Dual Control

31-3002 Four Gallon Sall Feed Unit Complete
32-3003 Four Gallon Salt Feed Tank w/pump, 12V

32-TO00RFK  Upgrade from Lectra/San to Electro Scan 12V

(856)-825-4900



w "WASTE TREATMENT SYSTEMS
. [ — o ——

Purasanj

Designed primarily for freshwater applications. USCG certified Type | marine sanitation

device protects our lakes and rivers by neutralizing harmful waste.

* Treats each flush as waste is generated

* Lower power consumption than Electroscan

* Single button operation is available

* Easy to change tablet cartridge, neutralizes bacteria

. Asingla tahietwtﬂtinﬂ hﬁtﬁﬁrm treatment cycles

* Can be used with both manual and electric toilets

* Can be used Mﬂﬂlm*ﬂﬂ;‘gmmm applications
Ailak it nd 3£V DG

INTAKE

‘f\.

PURASAN

RARITANeng.com




‘_ B T

WASTE TREATMENT SYSTEMS
= - ——

[ —[1A L L. el B o e
Holdini@alireatiSystem
» A complete onboard waste management system
« Utilizing our best Type | & Type Il MSD
+ Satisfies legal requirements in all U.S. waters
* Complete "drop in place” system
* Ultimate flexibility with deck pump-out or treated sewage
* Operates with fresh, brackish and salt water
* Salt Feed System required if toilet does not use salt water for flushing
* For use on inspected and uninspected vessels
* Available in 12 and 24 VDC Model
* Hold N' Treat Controls are available separately to add to an

existing holding tank and/or Type | MSD for ultimate flexibility
. hnprmrnd pressure sensor for determining tank level

m s
15‘! ﬁﬁzn tma: system complete with Electroscan
21SRP1512 Hold 1 mfm‘ﬁi‘ somplete with Purasan 12\

hPE.,anheﬂH oldn'T

Semi-Custom|HoldingkTanks

* The finest quality holding tanks

* Over 300 tanks to choose from, simply add
the fittings you want where you want them

* Qur tanks are made of cross-linked
polyethylene with 3/8" walls for increased
protection from odor permeation

= Call Raritan Technical Service in NJ for
assistance with your tank

See our complete catalog on tanks at RaritanEng.com

(856)-825-4900



h. WASTE TREATMENT SYSTEMS
- i’ ~

ManaGermg

Complete onboard biological waste treatment system for up to 12 persons per day. Treats
sewage biologically using air, water, and natural occurring bacteria.

+ USCG Certified Type Il Marine Sanitation
Device
* Tank made of lightweight corrosion resistant
= ‘-\ polyethylene
BT - - - « Easy installation - Simple maintenance
gatin * No moving parts in contact with sewage
o — i * Quiet, durable 120V AC aeration pump
included
* Uses very little electricity
» Operates with fresh, brackish and salt water
« For use on inspected and uninspected
vessels
* Includes Bio-starter , 10 Ib of tablets and
five fittings
« Available with pump up kit for below water
line installation

Model Description « Available for installation outside USA with
6400121 Managerm Non Hazardous (for shipping) P70 tablets,
Approximate Shipping weight: 1001bs (45 kg) also 220v units
SURFACE
SKIMMER
= WATER/SEWAGE 5
== AR DISINFECTING
VENT B—‘L TABLETS \
\ <= \\ 'CT-P
INFLUENT
S
- = EFFLUENT
=
ot
AERATOR
= ey,
CHLORINE
CONTACT
CHAMBER

RARITANeng.com L




ALARMS, MONITORS,'AND STRAINERS

InzlinegStrainer,
An Inexpensive way to protect your equipment from debris,
and toilet odors caused by marine life.

» Easy to install and maintain

= Convenient 1/2" female NPT connections

* 20 mesh plastic removable filter for easy cleaning
* Reduces toilet odors and maintenance

Part# Descripton
163000 In-Ling Strainer
163010 Strainer Filter
163020 Strainer Gasket

= =cvv YV Y= (e S —
RawaWatersStrainer,

This is an inexpensive way to protect your engine, generators,
AC units, and other components that require outside water.
each unit is individually pressure tested and designed with
High Impact Clear housing and lid.

« Easy to install and maintain
« Clear housing lets you see debris without opening strainer
* 16 mesh removable high capacity filter

Part# Description
RWS Raw Water Strainer
RWS5E Baskel

RWS5 O-Ring

ReverselPolarityfAlarm

* Audible warning if neutral wire of incoming 120V AC shore
power line is “HOT”

= Essential aid for traveling boaters when connecting to
unfamiliar dock side power

» Enclosed in a corrosion resistant housing

* Meets ABYC E11 requirements

Part # Description
RPA Reverse Polarity Alarm

(856)-825-4900



ALARMS, MONITORS, AND STRAINERS

S e oYVl [ ol B R ] Rl ml vl ol N, [ e L B L
[C-8000JEightiChanneliliankdMonitor/Controller,;
Our 8 channel tank controller provides an intelligent networked solution for the monitoring and
control of up to eight tanks. The system consists of the TC-8000 display controller and up to

eight HT-100 or HT-100/P tank controllers and any number of RD-800 repeater displays. The
system communicates via a 2-wire network cable with a maximum cable length of 1000 meters.

TCHB000IDisplaylController;

Features include:

= Three display modes, bar-graph, percentage and Liters or Gallons

= Full control from one central location on your boat

* Visual indication of tank level, seacock position & pump status

* Turn holding tank macerator pump on/off manually or automatically

= Turn water maker on/off manually or automatically

* Visual & audible tank full and fault alarms

* Three modes of operation: manual, auto gray or auto all

* Mode change is key switch selectable

= All tanks are name programmable giving tank location and type e.qg. (Aft Port, Grey Tank)
(Mid Ship Starboard, Black Tank)

HT100YoriHT=100/P;
Is a controller which manages the tank pump,

electric seacock, tank high output and provides
an input for the fluid level sensor.

Features include:

= Teach-in for level sensor with four point interpolation for irregular shaped tanks

* Controls the pump, the electric seacock (if fitted) and provides the input for the level
sensor

= Reversed output for tanks programmed as either fresh water or fuel, enabling for water
maker or fuel transfer pumps to turn on when empty and off when full

= Tank high level output which can be connected to the our toilet controller which disables
the toilet when the holding tank is full

« Interface to electric seacock, or standard seacock interlock switch

« An internal pump on/off override switch for tank servicing and cleaning

* Supplied in two different models:
HT-100/P features level sensor, tank high output, pump & electric seacock control
HT-100 features level sensor and tank high output

The RD-800 Repeater Display is an optional extra. Any number of these may be connected
anywhere on the vessel for convenient tank monitoring

RARITANeng.com




ALARMS, MONITORS,"AND STRAINERS

Raritan employs state of the art microcomputer technology on all the following tank monitors
insuring long term reliability.

Each unit offers:

* Encapsulated in silicon, product has been designed &
built for a life at sea

* 10 mm supply voltage terminal for voltage both in & out

+ All inputs are EMI protected

* Automatically senses 12 & 24 volt DC

= All internal programming switches are sealed to IP-67M
specifications

* Easy operation and installation

* Low current draw

* 40 Year Data Retention (no power)

Our four channel tank monitor provides an intelligent networked solution for the monitoring of
up to four tanks. The system consists of the TM-4000 display controller and up to four HT-100
tank controllers and any number of RM-400 repeater displays. The system communicates
via a 2-wire network cable with a maximum cable length of 1000 meters. Note: Two different
display options are available.

Features include:

* Full control from one central location on your boat

* Displays bar graph or Lts / Gals and percentage

* Visual indication of tank level, seacock position & pump
status

* Turn holding tank macerator pump on manually & off
manually or automatically

* Turn water maker on/off manually or automatically

= All tank names are user programmable e.qg. (Grey Tank )
(Black Tank ) (Fresh Tank ) (Fuel Tank ) (Day Fuel Tank)

+ Backlight

N

Features include:

* Manages the tank high output and provides an input for the fluid level sensor

* Teach-in for level sensor with four point interpolation for irregular shaped tanks

* Tank high level output which can be connected to the toilet controller which disables
the toilet when the holding tank is full

The RM-400 Repeater Display is an optional extra. Any number of these may be connected
anywhere on the vessel for convenient tank monitoring . Each unit is independent of the
others allowing for different tanks to be monitored at any RM-400 station

(856)-825-4900




ALARMS. MONITORS, AND STRAINERS

-l Rl ini e

llankiMonitor;

The finest holding tank monitor. Available with easy-to-read tank level indicators. Monitors up
to four tanks from one convenient location.

Ease of installation:

* All parts are mounted outside of the tanks - eliminates need for special tank fittings
= No internal probes or floats
* Flush-mounted indicator panel has a smooth surface (no protruding switches or gauge)

Ease of Use:

* Reliable electronic design perfected for the marine environment

« Can be used with any polyethylene or fiberglass tank for fresh or waste water
» Easy to use

* No maintenance required

* Gold-plated connectors ensure consistent and trouble-free performance

* Low power consumption

= Available for 12, 24 or 32V DC installations

Mot for use with metal tanks or fuel tanks
Width: 4 1/2"(11.4cm)
Height: 2 1/4" (5.7cm)

Model

Part # Description

15100* Tank Monitor (*12,24 or 32 V) .
15101 Tank Sensor Module Kil e
NOTE: NOT FOR USE WITH METAL TANKS OR FUEL TANKS.

Tank Monitor comes with face plate and material to manitor two tanks. s

Purchase a Tank Sensor Kit for each additional tank up to four tanks
Approximate Shipping Weight: 1 Ibs (.45 kg)

. 4

_“.

TANK MONITOR  °

Wi

f RARITAN o,

p 1 ey L wr

RARITANeng.com




CLEANING AND MAINTENANCE

RaritanfiOrganics

All natural products to help preserve and protect the marine environment

K.O. Kills Odors!

K.O. is a holding tank treatment specially formulated for today's marine markel Unlike chemical
roducts, K.O.'s bioactive formula breaks down and neutralizes odor-causing waste materials
nstantly. Eliminates holding tank odors at their source. K.O. works when nothing else will!

* Odor-killing bacteria digests liquids, solid waste and paper

* Does not require adding “tissue digesters” or other “boosters” to be effective
+ A small amount of K.O. can easily keep a boat odor-free between pump outs

* A safe, non-chemical and nonpolluting product

Part # Description
1PKD22 K.Q. Kilis Cdors! Bioactive treatment 22 oz, (.65 liters)
1PKOGAL K.0. Kills Odors! Bicactive treatment 1 gal. {3.79 liters)

C.P. Cleans Potties!

C.P. elimnates the warst raw odors from the intake line without brushing. The only toilet bowl
ﬂlEﬁnerD Raritan recommends for Rantan toilets. C.P. is the only bowl cleaner that can be combined
with K.

* The first bowl cleaner to combine a specialized strain of bacteria with 100%
biodegradable cleaning agents

» Specially designed to make the bowl shine like never before and keep the
entire system odor-free

* Leaves toilet bowls, drains and sumps sparkling clean

+ A safe, non-chemical, nonpolluting product destroys odors on contact

* Can also be used to clean sinks, showers and basins

Part # Description
1PCP22 C.P. Cleans Potties! Bivenzymatic 220z ( 85 liters)

Raritan/Non/-iOrganics
This is a non-arganic product.
R.C. Raritan Concentrate!

Rgd is-a toilet decdorant and lubricant for the intemal components of the loitet. R.C. 1s a non-organic
product.

* Toilet bowl deodorant
= Emulsifies materials that cause odors
» Lubricates the internal components of the toilet
* Recommended for Atlantes ADS and Crown Head deodorant bottle
* Not for use in combination with K.O.
Par escriptio
Eﬁﬂngz .-E’i!_ritan Egncgntrata 22 oz | 65 liters)

(856)-825-4900




CLEANINGFAND MAINTENANCE

RaritaniNonEIOrganics
C.U. Cleans Up!

C. U. removes dirt, grime, exhaust stains, that impossible black
streak at the water line and yes — even spider droppings on decks,
hulls, canvas, sails, upholstery and deck furniture. Even fenders
and power cords come shining clean with a minimum of effort using
C.U. Unlike other cleaners, C.U. contains no harmful solvents or
alkali. C.U. will not harden vinyl.

* Removes dirt, grime, mildew and exhaust stains
* Cleans up bird and spider droppings
* Non-polluting and safe on any colorfast surface

Part # Description
1PCuU22 C.U. Cleans Up! General purpose 22 az, (.65 liters)

B.C. Bilge Cleaner!

B.C. is an outstanding bilge and engine cleaner. B.C. emulsifies oil,
grease, dirt and sludge better than any competing bilge cleaner,
deodorizing as it cleans. Since B.C. has no odor of ils own, you're
left with a fresh-smelling bilge as well as a clean one.

* Emulsifies grease, oil and sludge
* Removes slime, dirt, bacteria, fungi and molds
* Non-polluting and safe on any surface

Part & Description
1PBC22 B.C. Bilge Cleaner! detergent/surfactant 22 oz. (.85 liters)

C.H. Cleans Hoses! _
C.H. is specifically designed to remove uric scale from black water
system from the toilet to the tank without having to remove hoses!

* Eliminates clogs which can cause poor flushing performance

* Non toxic, biodegradable and safe to use with all materials
commonly found in black water systems

+ Safe and effective replacement to the muriatic acid treatments
recommended in Lectra/San and Electroscan waste treatﬁmﬁ
systems

Part # Description
1PCHGAL Cleans hoses and MSD's

RARITANeng.com




AVIGATIONALYAIDES'

Ditcdelar Nlact+as
RudderdMaster;

Make life easier with our economical steering aid and rudder positioning device.
Each unit comes with all necessary components needed, along with calibration box and sending unit.

= Constant monitoring of rudder angle from 0 to 45 degrees
* Repeater units are available for multiple station readouts
* Protects your boat at docking and close maneuvering

MK2fandiMK3iModels

= Spray proof (IPG4)

MKSiandiMK6iModels

= Easy to read panoramic meter

RUDDER ANGLE INDICATOR

Note when ordering:

We ship units with 30 ft. (9.1m) of wire. Any model can be ordered with longer wire just ask. MK2 and
MKS3 units are the only units designed as true spray proof (IP64) meters. You will need to place meters
away from wash down areas and protect against the elements.

26 (856)-825-4900



NAVIGATIONALYAIDES

Rudder Master Parts List

Part # Description

MEZ* Round 2" Meter

MK3B® Round 3 3/8" Meter

MKS Panoramic 4 1/2" Flush Mount Meter
MEE Panoramic 3 1/2" Flush Mount Meter
MIZR* Repeater Unit with MK2 Meter
MESR Repeatar Unit with MKS Meter
MEGR Repealer Unit with MKB Meter

Any model can be special ordered with longer wire by adding length
in feet to (suffix) part #. Example: MK445-60

- Specify Voltage
Approximate Shipping Weight: 3 bs (1.4 kg)

Rudder Master Repair Parts

MK2ZM12 METER: 2 IN. CHROME, 12V

MKZMB12 METER: 2 IN, BLACK, 12V

MIZR12 MKZ REPEATER UNIT

MKZRB12 MKZB REPEATER UNIT

MEA45M METER: 2 1/2IN, EDGEWISE

MKESR MKES REPEATER UNIT

MKEM METER: 3 12 IN. PANEL

MEER MKE REPEATER UNIT

MECB CALIBRATION BOX

MKCEP CALIBRATION POTENTIOMETER

MEDRW ACTUATOR ROD ASSEMBLY WBALL JOINTS

MKSI| SENDER ASSEMBLY A
MKSII50 SENDER ASSEMBLY W/50 FT OF WIRE ;
MKSP SENDER POTENTIOMETER

/ £

Calibration Box

Actuator Rod with Ball Joint

METER

——Sending Unit

RARITANeng.com




WATER HEATER -h: %“""'

e

b [ w Vi WX Y- d 3§
IWOUISErieSIwWateriieater;

World-renowned water healer specially designed for the marine environment. Provides the comfort
and convenience of reliable hot water.

= Solid foam insulation means the water stays hot longer than with traditional fiberglass insulation

= Proven long-life design

* Withstands the rigors of the marine environment

* Glass-lined tank is more durable than stainless steel

= Attractive polymer jacket resists corrosion from dampness

= Ignition-protected, adjustable thermostat

* Environmentally friendly CFC-free foam insulation

* Replaceable magnesium anode to protect tank and neutralize acids in the water

* The tank is covered by a five-year Limited Warranty, the entire heater is covered by a two-year
Limited Warranty

« Each unit is assembled by hand, individually tested

« Available in 6, 12 and 20 gallon models - with or without engine heat exchangers

* Available for 120V AC or 240V AC

_Size A B Shipping Wt,
& gal. 14 1/2"(36.9cm) 16 1/4"(41.9cm)  36lbs/16kg
12 gal. 18 3/4"(47.6cm) 16 1/4"(41.9cm)  62Ibs/28kg
20 gal. 18 3/4"(47.6cm) 24 1/4"(60.6cm) 81Ibs/37kg

A—df

1700 Series
Mpring
Watoer Hoatars

Ny

(856)-825-4900



—~ Y
Icersette
A dependable, environmentally friendly, fully automatic ice making machine designed
specifically for marine applications.

* Wrap around evaporator coil ensures an evenly cooled interior

* Produces up to 22 pounds of crescent-shaped ice a day

* Removable ice bucket stores 11 pounds of ice

* lce production stops automatically when ice bucket is full

* No drain required

* Magnetically sealed door has sturdy stainless steel hinges and locking latch

* Unique door lock holds the door closed in rough seas or open when unit is shut
down to allow proper ventilation 1

* Noncorrosive materials, fittings and fasteners

* Door can be hinged for right-hand or left-hand opening

* Each unit is assembled by hand, individually tested and backed by Raritan's
one-year Limited Warranty and legendary technical support team

* Two sizes and several door color combinations that complement any boat interior

« Available for 120V AC, 60 HZ and 240V AC, 50 HZ




ICE MAKER

Icer-ette Exploded View

19 172
{495 mm)

S a
(356 mm)
i

24 172"
25 114" (622 mm)
(641 mm) g 25 1/4"

®10mm) (641 mm)

Without

rubbar Feet

e

(856)-825-4900

24 172"
(622 mm)

24"

(610 mm)
Without
bber Fest




ICEIMAKER]

Icer-ette Ordering Instructions

To find the correct part number for your application please read the
following instructions.

Column 1

enter { 84 ) = Model 84 short version

enter ( 85 ) = Model 85 tall version

*check current dimensions to order the correct size and model number

Column 2

enter ( B ) = built in has flange

enter { BH ) = flange with holes

enter ( E ) = flush mount flange

enter { EH ) = flush mount flange with holes
enter [ F ) = free standing without flange

Column 3
enter [ 5 ) = Stainless steel

Column 4

enter [ 15 ) = stainless steel door
enter ( 16 ) = white vinyl door
enter { 17 ) = black vinyl door
enter { 18 ) = neutral vinyl door
enter { 19 ) = antigue white vinyl doar

Column 5
enter (1) =120 volts AC
enter { 2 ) = 240 volts AC

We want to make sure you get the most convenience for your money. Please feel free to contact us with
questions, or to review additional features available for your custom application.

[84]Icer-ette short [ B | Flange Cabinet type Door Type
[B5]lcer-ette tall  [BH| Flange with holes [15] Stainless steel [1]120v AC
E |Flush Mount Flange | [5] Stainless steel White [2] 240V AC
[EH| Flush Mount Flange with Black
holes Meutral
[F] Free-standing -no flange Antique white

RARITANeng.com




ICE MAKER

Icer-ette Parts List

ltem#  Description Parl # Model 84
1 Wiring Harness (not shown) I44
2 Module Assembly 134M-1
3 Thermostat 134T
4 lcemaker Mold with Heating Element 134MH
1 Black Handle Latch Assembly IM135
12 Door Gasket IMBS
13 Black Nylon Snap Bushing 12101
14 Stainless Steel Door Assembly IM215W
White Laminate Door Assembly IM216W
Black Laminate Door Assembly IM217W
Meutral White Laminate Door Assembly IM218W
15 Omn-0ff Rocker Switch 1375
16 B8-32 x 1/2 phil pan head stainlass
steel screw 173
17 Grille IMSS01
18 Door hinge top screw, 1/4-28 x 1/2
hex head F181
Door hinge bottom screw,
1/4-28 x 5/8 hex head CHS51
19 Hinge Set, Top & Botlom IM13W
20 loe Bucket 180
21 lee Maker 134w
22 lce Maker Front Cover 1344
23 Compressor Relay wioverload protector 11806-1
24 Water Line Tubing Assembly 1935w
26 Water Sclencid Valve 124B
27 Compressor w/hardware and drier
(includes #40) HB00A-1W
28 Power Cord 141
29 Service Valve witube 1101
32 Flange IM3ES
Flange w/Holes IM99SH
40 Drrier 130401
41 Moter andior Blower Assembly 128
42 Cold Control 133A
43 Relay 152

84 240v

144220
134M220
134T
134MHZ20
IM135
IMBS
12101
IM215W
IM216W
IM217W
IM218W
1375

173
IM2501

F181

CHS51
IM13W
190
134\W220
134A,
11806-2
1935W
1348220

1B00A-2W
141220
1o

IM3aS
IMS25H
130401
128220
133A
152220

(856)-825-4900

Model 85

l44
134M-1
134T
I34MH
IM135
IMBS
12101
IM215W
IM216W
IM217W
IM218W
1375

173
IMS01

F181

CHS51
IM13W
190
134w
134A,
11806-1
193w
1348

MB00A-1W
141

1o

IMaa
IMS2H
130401

125

133A

152

85 240v

144220
134M220
134T
134MHZ20
IM135
IMBS
12101
IM215W
IM216W
IM217W
IM218W
1375

173
IMS01

F181

CHS51
IM13W
190
134\W220
134A,
11806-2
193w
1348220

1B00A-2W
141220
1o

IMaa
IMS2H
130401
126220
133A
152220




ICE[MAKER)

Exploded View of Model 85 Icer-ette

a1

Exploded View of Model 84 Icer-ette

VOLTAGE

Wiring Diagram
Raritan Icer-ette
Series 84 and 85

Exploded view of ltem #21

WHITE

RARITANeng.com




SPECIFICATIONS

Marine Elegance Exploded Parts View

221100

FIET\"T

Fl g

221215
F186

Refer to page 50 for remote intake pump parts.

221150
—

&
221351101 2\-’}
221352[24\"’;

M23A
1108A

221120

221300
-
f 221335

ﬂll'ﬁﬂ' ¢

221115

161123

Marine Elegance Ordering Instructions
To find out the carrect part number for your application please read following instructions

Column 1
Insert (2) = Marine Elegance models
Column 2

Insert (2) = Standard height bowl
Insert (3)= Tall height bowl

Column 3
Insert (0)= Angled back
Insert(1) = Siraight back

Column 4
Insert {H) = Household size

Column 5
Insert(F) = Fresh water solenoid

This allow user to flush using pressurized fresh water on board

Insert{R)= Remote sea water pump

This allows user to use raw water by installing pump remotely

Insert(S)= Seaffrash option

Column 6

221340(2)

221140
21165

12"46
221135{2}
21I45

31-102 2210%*

161115

Insert{0)= Thru floor discharge

Column 7
Insert{12)= 12V DC

Insert (24)= 24VDC

Insert{12T)= 120w 240V AC

Column 8

E\é?!d.ﬂ!'ﬂlhl

221155

/

’ ! 33"“5 :um_‘,_,_‘/

Insert (blank) = Fully programmable smart switch contral
Insert (01) = Momentary multifunction control

Insert{02) = Heavy

This allows user to switch between fresh pressurized water and searaw water,

duty push button

]

Marine
Elegance

[0]Angled
[ 1] straight

E] Househald

|E| Fresh water

Eﬂumtom

B Sea / Fresh

|:| Smart Swilch
Multifunction

[02] Heavy Duty

(856)-825-4900




bi?o 2ITAN

Marine Elegance Parts List

Part# Descrription

221100 Toilet Bowl, Standard, Angled, White(1)
2211004 Toilet bowl, Bone(1)
2210012 Discharge Pump Assembly (1)

221012 MOTOR: 12WVDC (1)

221024 MOTOR: 24V DC (1)

221105 O-RING (1)

221110 Discharge Pump Seal Plate (1)
221115 Discharge Pump Macerator Housing(1)
221120 Bowl Throat Adapter (1)

221125 Bowl Throat Adapter Clamp- Small (1)
221130 Bowl Throat Adapter Clamp - Large (1)
221135 JOKER VALVE (Custom) (2)

221140 Discharge Hose (Custom}{1)

221145 Discharge Adapter Fitting(1)

221150 Uni Seal 1/2" (1)

221155 Discharge Pump Mounting Bracket{1)
221156 Discharge Mig Bracket Straight Back Model
221160 Discharge Hose Clamp - Small (1)
221165 Discharge Hose Clamp - Large (1)
221170 Discharge hose strap (not shown)
221175 L bolts (2) { not shown)

221210 Bowl Mounting Bushing (2)

221215 Bowl Mounting Bushing Cap (2)
221300 Vacuum Breaker Assembly 1
221325 Vacuum Breaker Seal Washer (1)
221330 Wacuum Breaker O-Ring (#16)(1)
221351 Water Solenoid Valve (12V)(1)
221352 Water solenocid valve (24V)(1)
221355 Water Line Adapter (1)

221335 1/2" Hose 2.25" L (1}

221340 112" Clamps (2)

30z Motor Shaft Seal

31-114 Lock Nut 10-32 WiNylon (3)

CH20B #10 Lock washer (not shown)

11084 Must

161115 Impeller

161123 Macerator Blade

SPECIFICATIONS
Part# Description
F321 Fender washer (not shown)
F186VT Bowl Mounting Screw: (2)
F187TVT Bowl Mounting Screw (1)
F188 Well Nut (2)
F189 Deck Mounting (3)
F193vT Pump Mounting (1)
F195 Frent mounting washer (1)
F196 Front mounting snap cap (1)
M234 Lockwasher
F199 Bushing

REMOTE INTAKE PUMP see pages 50 & 51

Optional:

150601 Fresh water strainer

163000 Faw walter strainer

NOT SHOWN;

22110 Toilet Bowl, Standard, Straight White

231101 Toilet Bowl Tall Straight White

231100 Toilet Bowl Tall Angled White
Mote: add suffix A “for bone

1245 Seat and cover, white

12454 Seat and cover , Bone

214* Relay

Control parts {not shown):
SSFC02 Smart Control Box
SSFCO3 Smart wall panel
SSFC04 Cable

31618 Cable

For Mamentary Multifunction control after 02110

221549 Momentary Multifunction control box
221524 Momentary Multifunction Bezel White
221543 Momentary Multifunction wall panel
221545 Cable for Momentary Multifunction control
Repair kits:

DIAPUMPRE Inlet pump repair kit

MERK Discharge pump repair kit

162400 Fittings and C-rings for inlet pump

Marine Elegance Dimensional Drawing

BOWL TYPE A B '+ o E F
ME 1838 1214 14 12 14 gz
AMGLED BACK (46T) (311 (ass) (305  (355) (218}
ME 1838 121M 14 12 W gz
STRAIGHT BACK  (467) (311} (ass)  (308)  (388)  (218)
ME - TALL 1B 1214 17 15 14 B2
ANGLED BACK  (467) (3"} @3z (3800 (355)  (216)
ME - TALL 1|as 1214 ir 15 14 R Ir
STRAIGHT BACK (#67) (311}  (432) (380) (3550 (216)

218
(54}

218
(54}

INCHES
- ————= (MM} i— A
E —A
I ] ;
\*-.__..--’/ D Jr'f
O :‘F
[— B—-J -G

RARITANeng.com




SPECIFICATIONS bﬁ,,_q.m.,

Atlantes Freedom Ordering Instructions

To find the correct part number for your application please read the following instructions.

Column 1
enter [ A ) = for Atlantes Freedom models

Column 2
enter [ ] = left blank defaults to our Standard Household bowl
enter ( L ) = Elongated bowl

Column 3

enter ( T ) = Momentary flush lever

This option allows users to flush toilet with incoming water and discharge or discharge
only depending on your requirements.

enter | 8 ) = Timed Flush Lever

This option includes a toilet contrel unit which allows for a timed flush operation while still
confrolling the intake and discharge separately, momentary flush lever will work if electronic timer fails.
enter { 9 ) = Wall switch without bow! handle.

Allows all options of the Timer Flush option plus a water saver feature.

Mote: only options ( 7 ) and ( 8 } come with our sturdy beautifully polished stainless steel
handle mounted to side of bowl,

Column 4

enter [ ] =left blank defaults to our white standard bowl
enter [ A ) = Bone household bowl

Mote: This option is only available when 2nd column is left blank.
enter ( B ) = Elack Househald bowl

Mote: This option is only available when 2nd column is left blank.
enter [ A ) = Bisque Elongated bowl

MNote: This option is only available if { L } was selected in 2nd
column.

Column 5

enter [ ] = left blank defaults to owur standard integral pump

Owur integral pump design conceals all components within the onepiece china bowl

for a nice clean look,

enter [ R ) = Remote Sea waler pump

This option allows users to install pump away from the head to reduce noise levels,

allows for easier access to the pump and is ideal where longer runs are required.

enter ( F ) = fresh water solenoid

This allows users to use the pressurized fresh water onboard to keep orders down
associated with raw water intake. Features our Whisper Flush, designed for quite operation.

Column 6

enter { 12 )= 12 volls

enter | 24 )= 24 volis

enter | 32 )= 32 volis

enter [ 24T )= 120/240 volt hook up options

We want to make sure you get the most convenience for your money. Please feel free to contact us with questions, or
to review additional features available for your custom application.

[A] Atlantes|__Bowlsize  l= ooy | — BowiColor | _Pumpstde ;

Hausahaold m s i White Integral pump
(standard) I3 Timed Flush Lever (stadare) T ) additional options
Elongated ) wan switch Bone Household bowl |[R] Remote 32 R LY

A | Bisque Elongated bowl Sea water 1m Technical S
Black Householdbowl | pymp nical Support
[F] Frastwater
Solenoid

(856)-825-4900




bi&;.{pqrrnu SPECIFICATIONS

Atlantes Toilet Requirements:

Wiring: Wiring: 12 AWG: Wire gauge will increase depending on  distance from power source.
Circuit: 12V = 15amp
Power: Freshwater Model 11 amps 12V

Intake Pump Model 20 amps 12V

Pressurized Water Supply: " line 3 gallons per minute, minimum pressure Spsi

Available in: 12, 24, 32 VDC and 120 or 240 VAC
Discharge: 1.57 ID hose required
Optional: Internal vented loop

Deoderant System (ADS)

Atlantes Dimensional Drawing

BOWLTYPE| A B c D E F
19 15 | 17316| 15 | 133/4 | 14
STANDARD | 460y | (380) | (440) | (380) | (350) | (355)
21 | 181/4 |173116 | 15 | 1412 | 14
ELONGATED 545y | a65) | (440) | (380) | (368) | (355)
INCHES
(MM)
e E - - A —
= = = '_Eh_ 1
I
C
D
1Y
= F -— |-< B -

RARITANeng.com




bi?ﬂ ATAN

o

s
2 3
nt

(856)-825-4900

"y
e o
.zﬁxf..q.\. -y

@ —e=

P
®—F

B .\.rr-.-.f.

7

Atlantes Exploded View

7]
=
o
=
g
o
'8
(&)
W
o
7]




[+

N2 ARITAN

Atlantes Freedom Parts List

ltem &  Part # Description

1 1245+ Seat & Cover

1 ALO30+ Seat & Cover (elongated)

2 AMOO1AW  Atlantes bowl (Almond)

2 AMODIW Atlantes Bowl (white)

2 ALOOTW Atlantes Bowl Elongated (white)
2 ALOD1AW Atlantes bowl elongated (Almond)
3 M23A #10 Lockwasher S/5 (19)

4 F111 10-32 5/5 Mut (4)

5 AMED112 Discharge Motor 12 W

5 AMBED124 Discharge Motor 24V

5 AMB0132 Discharge Motor 32V

& 3102 Motor Shaft Seal

T AM110 Discharge Pump Back

8 F105NP 1/4-28 Set screw (2)

9 AM1B1 Grinder Impeller

10 AMOD3 Discharge Connection (set of 3 pcs)
11 AM114 Discharge pump O ring

12 AM152 Grinder Teath

13 AM1304 Discharge pump body

14 F143VT 10-32 x1" pan hd sltd screw (2)
15 12268 1/4-20 nut sfn (2)

16 1118 1/47 locking star washer (4)

17 AMESSW Handle S5 wiset screw

18 AM141 Discharge cover O ring

19 AMOZ0B Pump mounting bar bracket

20 1119 1/4-16 x 1 1/4" md hd screw (2)
21 1660* Pump mator *

22 AM140 Discharge Cover

23 F148vT B8-32x71M6B s/s truss hd screw (B)
24 C254 Joker Valve

25 1222AW 90 degree elbow

26 F14TWT 3/8-16x 1 172 md hd screw (2)
27 12228 Straight discharge

28 FOOS 1/4-20 x 316" 35 Hex S0C (2)
29 163000 Seawater Inline Strainer

30 AME15 Atlantes inlet pump mounting brkt
3 Fi172 Plastite screw #10 x 1/27 (4)

32 162325 A Bearing Plate

33 162305 Lower Housing

34 162320 Piston seat (4)

35 162310 Diaphragm

36 162315 Piston (4)

38 162225 C-ring

39 162420 Fitting Clip (3}

41 162410 3/4" Hose Barb Straight

42 162425 Q-ring (3)

43 162415 Plug Fittting

44 162405 3/4" Hose Barb 900 Fitting

45 Fl44 #10 Washer s/s flat (2)

47 F162vT Inlet Pump Mounting Bolt (4)
48 1621000 Upper Housing Assembly

49 1622000 Middle Housing Assembly

50 162300W Lower Housing Assembly

52 CH43 Haose clamp SIS 3/4" (5)

53 CH42 34" PVC hose

54 31-307TW T-Check Valve Assy.

55 F180 Rubber Washer

56 F106 Screw, Trilobular, #5 x 3/4 phil pan hd
57 FO89 1/4-20x 2" md hd screw (2)

58 FO35 Isolation Nut (3)

59 AM1E5 Terminal Block Eracket

60

81 F108 Screw #4 x 1 (2)

SPECIFICATIONS

ltem#& Part# Description

53 AMS19 Intake Hose from Diaphragm Pump
64 1236E Bowl Elbow

64 41-280 Bowl Elbow for fresh water units
65 1236AW Spud Assembly

66 AME0OW Flush contred & wire harmess

&7 M3t 1/4" Brass flat washer (B)

68 RMI Mylon Shoulder Washer

69 FOG9 1/4" Fiber washer

I HLWQB 1/4"5plit Lockwasher

T2 H3E1 1/4-20 Brass screw (2)

73 M30 1/4-20 Brass nut (4)

75 AMOZ28 Bushing

85 501*W Toilet control for AT & A8

85 s02*wW Toilet control for AS

OPTIONAL DEODORANT/SALT FEED PARTS LIST (ADS)
78 31-301 Salt Feed Tank

8 31-302 Salt Feed Tank Cap

81 31-304C Plastic Tubing Clamp

82 31-304W Aszembly

OPTIONAL T-CHECK VALVE PARTS LIST

54 31-307W T-check Valve Assy.
86 31-307E O-Ring

88 31-308W Siphon T check Valve
89 CH12 Check Ball

a0 CHs Check Valve Spring

WaLL MOUNTED FLUSH CONTROL

&1 ATWE41 Flush control w/ bazal

92 3-518 Cable for flush control
SOLENOID VALVE FRESH WATER UNITS

93 CWPS12B  1/2 GC Solenoid valve 12V

a3 CWPS24B  1/2 GC Solencid valve 24V

a3 CWPS32B  1/2 GC Solenoid valve 32V

a5 CWPSMB Mounting Bracket for CWPS

a5 PLA14 1/2° MPT to 34" barbed Nipple (2)
Toilet Control

85 s0112wW Toilet Contral 12 Volt for AT & AB
85 50124W Toilet Control 24 Vot for AT & AB
85 S0132wW Toilet Contral 32 Volt for AT & AB

ATMOSPHERIC{ANTI-SIPHON) VACCUM BREAKER
a8 PLAVBO-5 Atmospheric Vacuum Breaker

96 PLA13 12" NPT to 3/4 hose elbow
a5 PLATS 1/2* MPT to 3/4" barbed Nipple
PARTS NOT SHOWN

RTAHZ24DA Power Converter For 120/240MAC UNIT

ADDITIONAL ACCESS0ORIES AVAILAELE FROM RARITAN

1PCP22 C.P. Cleans Potties, 22 OZ
AHDATW Internal Vented Loop

SH Sanitation Hose 1 1/2" (sold by foot)
WL 1172 Vented Loop 1 1/27

WL 34 Vented Loop 3/4"

¥ "™ Valve

1PCHGAL Cleans Hoses, Tanks and MSD (gal.)

+ specify color
* specily Voltage (12, 24 or 32 volt)

RARITANeng.com




SPECIFICATIONS @?},,mm”

Crown Head Ordering Instructions

To find the correct part number for your application please read the following instructions.

Column 1
enter { C ) = Crown Head

Column 2

enter [ ] = left blank defaults to our Standard white marine size bowl
enter { W ) = white household size bowd

enter ( A ) = bone household size bowl

Column 3
enter [ ] = left blank defaulls to our Standard straight discharge
enter ( 9 ) = a 90 Degree discharge

Column 4

enter { 12 )= 12 volts

enter | 24 ) = 24 volis

enter { 32 ) = 32 volis

enter ( 24T ) = 120/240 volt hook up options

We want to make sure you get the most convenience for your money. Please feel free to contact us with questions,
or to review additional features available for your custom application.

White bowl, Straight ;
@ ﬁ:’;ﬂ marine-size Discharge 32:::);
(standard) (standard)
White, bow [9]90° Discharge | (32
household-style 24-T|120/240
E Bone, bowl
household-style

(856)-825-4900




b};gqnﬁu SPECIFICATIONS

Y

Crown Head Toilet Requirements:

Wiring: & ga., will increase depending on distance from source
Circuit: 12V = 50 amp

Power: 36 amps 12V

Water Supply: W line

Discharge: 1.57 ID hose required

Crown Head Dimmensional Drawing

13 172" (343mm) 19 1/2" (495mm)
Household-style ) Household-style
13" (330mm) Marine-size 17" (432mm) Marine-size
[— — —
| — = x ?;-—n
=
17 38"
{441mm)
Household-style
17"
{432mm)

Marine-si . 11_ o
“ sa-[m] l Pﬁmm} i
T

{52mm})
Household-style
11132 9:155* - "
(26rmm)
{ETEﬁm} {219mm) Marine-size
Tig" "
13 718 mm
{302rmim) Houae{agfdwle}
12 7/8" (327Tmm})
Marine-size

RARITANeng.com




QRQR!TAN

(856)-825-4900

Crown Head Exploded View

SPECIFICATIONS




N agiTAN

Crown Head Parts List

ltem # Part #

1 1118

2 120381
3 1222AW
4 1222B

4 12228W
5 1226B

5] 1341

T 31-102

8 C253

9 CH10Z2MW
10 CH119MW
1 CH12

12 CH120
13 CH11
14 CH136
15 CH15DD
16 CH18W
17 CH2

18 CH25

149 CH26

20 CH27

21 CH291
22 CH2891ALM
23 CH29A
24 CH29B
25 CH29A1W
26 CH33sW
27 CH34

28 CH37

29 CH3TE
30 CH3g

31 CH42

32 CH43P
33 CH5WwwW
34 CH50CW
35 CH51

36 CH52

37 CH53

38 CH55A
39 CHS57

40 CH58

41 CH59

42 CH&

43 CHT

44 CHa

45 CHS0

46 CH92

47 CHM*

48 F148WT
49 G13

50 G15

51 G13w
52 G2M

53 M23

54 M30

55 M31

56 RMI

a7 VCAP

Description

Part #
Lockwasher (4)
“0" Ring 1234
Discharge Ell and Flange 1236AW
Straight Discharge 1237W
Straight Discharge Assembly (Incl.
12228, CH90, CHI2, [2]1115, C253. 12384,
[4]1CH2T)
Bowl Mounting Nut (4) 1244W
Discharge Screw (2)
Maotor Shaft Seal
Joker Valve 163000
Intake Pump Assembly, complete PCP22
Discharge Impeller Assy. (Incl. CH118M, chs*
[2]F145WT) CHTTS
Check Ball CON22
Discharge Pump Wall CSRK
Maceratar
Siphon Cap for Shroud Botlle
End Bell
Front Cover (w/™Q" ring)
Pump Body (wishaft seal) CDPUMPRK
Front Cover "0" Ring
Front Cover Screw (B)
Mounting Screw (4) CDDISRK
Shroud (2 pcs.)
Shroud, Bone (2 pes.)
Shroud Bottle (Concentrate Reservoir) CR1
Shroud Screw (2)
Shroud Assembly, Complete wibotlle, cap FES
and siphon RHT4
Siphon Assembly, Complete (Incl. CH138,
CH3T, CH3TE) RTCH24DA
Woodruff Key SH
Siphon Tubing SL
Siphon Check Valve WL 34
Bowl Stud (4) WL 1172
Hose Y
Hose Clamp (2)

Pump Plug, Vented(incl. 120381 O Ring})
Bowl Elbow wiSiphon Intake
Base Screw (4)

Fubber Mounting Strip (2) not shown
Pump Mounting Screw (4)

Base Plate

Slinger

End Bell Screw (4}

Seal with Stainless Steel Spring
Pump Cover Plate

Pump Gasket

Check Valve Spring

Discharge Adapter

Adapter Gasket

Motar

Set Screw (2)

Pump Impeller

Impeller Washer (2)

Pump Impeller wii2) G15
Impeller Wear Plate

Lockwasher (4)

Hex Mut, Brass (2)

Flat Washer, Brass (2)

Nylon Bowl Mounting Washer (4)
Vinyl Cap (bowl nut cover)

RARITANeng.com

SPECIFICATIONS

MISCELLANEOUS RELATED PARTS

Description

Bowl Gasket (fits all Raritan toilets)

Bowl Spud Assembly

Marine-size Bowl, Round Top Rim (white only),
Incl.1236AW

Seat and Cover for Marine-size Bowl

(white only)

Household-style Bowl, Oval Top Rim available in
white or bone, includes 1236AW 1245 Seat and
Cowver for Household-style Bowl

In-Line Strainer

C.P, Cleans Potties, Bio-enzymatic, 22 oz.
Continuous Duty Solencid Relay

Hose Clamp for 1 1/2° 1.D. Hose

Raritan Concentrate 22 oz.

Repair Kit (Centrifugal DischargeSeries) Includes:
CH25, CHS2,

1234, CH12, G13, CHE, CH3TE, RNI, CH120,
C253, CH5%, 31-102,

CHY, G15, 1203B1and CH5T

Crown Head CD Series & CHIIl Intake Pump
Repair Kit (built before 4/95 Includes: 120381,
CH12, G13, G2ZM, 31-102, CHY and G135
Crown Head CD Series Discharge

Repair Kit, Includes: 1234, CH120, CH57, CHE2,
253, CH25 and CHE9

Discharge Impeller and Macerator Assy. (incl.
CH120, CH121, F148VT([2], and CH118MW)
Pushbutton Switch

Inline Check Valve for 1 1/2° |.D. Hose RTC*
Raritan Off-delay Timer

Rectified Transformer (for 120 or 240 VAC input)
Sanitation Hose, 1 1/27 1.D. (s0ld by the foot)
Super-Lube 1/2 oz tube

Vented Loop 3/4°

ented Loop 1 1/2°

“¥" Malve for 1 1/2" 1.D. Hose




SPECIFICATIONS bj;a_q'lrnu

Crown Head Il Ordering Instructions

To find the correct part number for your application please read the
following instructions.

Column 1
enter { C2 ) = Crown Head Il models

Column 2

enter [ ] = left blank defaults to our standard white marine size bowl
enter { A ) = bone household bowl

enter { W ) = white household bowl

Column 3
enter [ ] = left blank defaults to our Standard sfraight discharge
enter { 9 ) = a 80 Degree discharge

Column 4

enter [ ] = left black defaults to our standard remote intake pump

Allows users to run pump dry without damage. Allows for easier access o the pump
and is ideal where longer runs are required.

enter { F ) = fresh water solenoid

This allows users to use the pressurized fresh water onboard to keep orders

down associated with raw water intake.

Column 5

enter { 12 ) = 12 volts

enter { 24 ) = 24 volis

enter { 32 ) = 32 volts

enter ( 24T ) = 120/240 volt hook up options

We want to make sure you get the most convenience for your money. Please feel free to contact us with questions,
or to review additional features available for your custom application.

Bowl Color
[Grnwn White bowl, Straight Dis- | Remote Intake [12] Specify
stand. 'standard,
¢ Iw{ : ! |E| Freshwater EE
e g Solenoid E’mﬂfﬂm
household-style 90°
White bowl, Discharge
household-style

(856)-825-4900




EF‘W'TA‘“ SPECIFICATIONS
Crown Head 1l Toilet Requirements:
Wiring: 10 ga., will increase depending on distance from source
Circuit: 12V = Freshwater model 25 amp
Intake pump model 40 amp
Power: Freshwater Model 19 amps
Intake Pump Model 28 amps
Water Supply: 3% line 3 gallons per minute, minimum pressure Spsi
Discharge: 1.5" ID hose required
Optional: wall switch controd, holding tank full indicator on switch
Crown Head Il Dimensional Drawings
13 1/2" (343mm) 19 1727 (495mm)
Household-style Household-style
-sty - - sty
13" (330mm) Marine-size 17" (432mm) Marine-size
17 38" \
(441mm)
Household-style
17"
(432mm)
T C_
10 L 10
112" 718" =
{268mm) (276mm)

RARITANeng.com




SPECIFICATIONS bj;:p_a,.q_lrnu

Crown Head Il Exploded View

(856)-825-4900



£
bi? ARITAN

Crown Head Il Parts List

Itern #

1

L5568

Part #
1244 8W

1244W

1238AW
1236E
PLA14
1234
12268
RHMI
CH3B
C246
c247
CH18W
CH25
CH121
CH120
F149vT
CH119MW
CHS58
CHz7
CHS2
Cc280
C253
12228
1341
1222AW
CH15DD
CHS59
CHS57
CH34
came
M31

M30
CHSS
1118
CH51
162300W
162100W
162225
1622000
162135
162420
M23A
162425
F144
162405
c250
162415
F162vT
162410

Description

Household-style Bowl Assembly, {Bone)
includes 1236AW

Household-style Bowl Assembly,
(Whitejincludes 1236AW
Household-style Seat and Cover
(White) (Mot shown)

Household-style Seat and Cover
(Bone) (Not shown)

Marine-size Bowl Assembly

(White) includes 236AW (Not shown)
Marine-size Seat and Cover

(White) (Mot shown)

Bowl Spud Assembly

Bowl Elbow

Male Adapier 172 MNPTx3/4 Barb
Bowl Gasket

1/4" - 20 S5 Hex Nut (4)

Mylon Shoulder Washer (4)

Bowl Stud (4)

Lower Cover, Bone, Household-style
Lower Cover, White, Household-style
Front Cover wi"O" Ring

Front Cover O-Ring

Macerator

Discharge Pump Wall

Set Screw (2)

Discharge Impeller Assy. includes CH119M,
Fillister Head Screw (4) 10-32x3/4" /5
Mounting Screw (4)10-32x5/8" S/S
Square Rubber Gasket

Discharge Adapter

Joker Valve

Straight discharge

Discharge Scraw (2)

90 Degree discharge (opt.)

End Bell

Seal

Rubber Slinger

Woodruff Key

Crown Head Il Motor, 12, 24, 32VDC
#14 Brass Washer (4)

1/4" - 20 Brass Nut (4)

Base Plate

Lockwasher (4)

Base Mounting Screw (4)

Lower Housing Assembly

Upper Housing Assembly

0O-Ring

Middle Housing Assembly

Cone Seal

Fitting Clip (3}

#10 Lockwasher (4)

Fitting O-Ring (3)

Mounting Bolt Washer (4)

3/4" Hose Barb - 80° Fitting

Beaded Wire Tie

Plug Fitting

Mounting Baolt

3/4" Hose Barb - Strai

SPECIFICATIONS
ltem# Parl# Description
51 162315 Piston (4)
52 162310 Diaphragm includes 162315
53 162320 Piston Seat (4) includes 162315
54 162305 Lower Housing includes 162315
55 1623254 Bearing Plate Assembly includes FOOS,
162315
56 FO20 Piston Fastener (4)
57 FOO5 Set Screw
58 PLAVBO-5  Atmospheric Vacuum Breaker
60 PLA13 Elbow, 1/2° NPT x 3447
61 163000 In-line Strainer
62 1660° A Remate Motor
63 CH26 Front Cover Screw
67 162000W Intake Pump Assembly includes
162100W,162200W, 162300W
164000 Heavy Duty Push Button Switch (Not shown)
166000 Diaphragm Intake Pump Assembly 12V
includes 162100W, 162200W, 162300W and
1660°A
166100 Diaphragm Intake Pump Assembly 24V
includes 162100W, 162200W, 162300W and
1660°A
166200 Diaphragm Intake Pump Assembly 32V
includes 162100W, 162200W, 162300W and
1660°A
CHS2 Rubber Mounting Strip (2}, (Not shown)
70 CR1 Discharge Impeller and Macerator Assembly
includes CH120, CH121, F149vT(2).
CH119MW
F173 Screw, Plastite, #6 x 1/2 phil pan head
WATER SOLENOID VALVE
66 CWPS'B 112" Water Solenoid Valve
CWPSMEB  Mounting Bracket for CWPS (Not shown)
ADDITIONAL ACCESSORIES AVAILABLE
TC*+ Toilet Control (Mot shown)
RTC* Raritime Solid State Timer with solenocid
(Mot shown)
SH Sanitation Hose 1 1/2 inch, white{Not shown)
SWF100+ Flush Control (Mot shown)
TWE Toilet Water Kit (Not shown)
VLI_W Vented Loop 1_" (Mot shown)
RTCH24DA  Rectified Transformer (for 120/240 VAC input)
v “¥" Valve, 1 1/2 inch
* Specily Voltage
+ Specify Color

RARITANeng.com




SPECIFICATIONS qu_a_.qlrnu

Sea Era Ordering Instructions

To find the correct part number for your application please read the
following instructions.

Column 1
enter { 160 ) = Sea Era models

Column 2

enter { H ) = white household size bowl

enter ( M ) = white marine size bowl

enter ( L ) = Conversion kit

This allows users to replace base of electric or manual toilet for added convenience.,

Column 3

enter { 1 ) = cur integral pump

enter { R ) = Remote Sea Water pump

This options allows users to install pump away from the Head to reduce noise levels,

allows for easier access to the pump and is ideal where longer runs are required.

enter { F ) = fresh waler solenoid

This allows users to use the pressurized fresh water onboard o keep orders down
associated with raw water intake. Features our Whisper Flush, designed for quiet operation.

Column 4
enter { 0 ) = straight dizcharge and 20 degree

Column 5

enter { 12 ) = 12 volis

enter ( 24 ) = 24 volls

enter { 32 ) = 32 volts

enter { 24T ) = 1207240 volt hook up opticns

Column 6

enter { 03 ) = Momentary fill / dry flush switch

MNate: Only available with remote pump { R ) and freshwater solenoid { F ) models.
Allows users to fill, or empty bowl. and or momentary flush options depending on your
requirements to minimize water usage.

We want to make sure you get the most convenience for your money. Please feel free to contact us with gquestions,
or to review additional features available for your custom application.

160 peaEra EHousehold-size, E Integral pump EIStraight E S22 @SWF: 00
white bowl E Remote & 90 Degree Voltage mﬁan;';l:g
EMarine-size, Seawater Discharge switch
white bowl Pump
24T |120/240
om.rersion Kit E Freshwater
Solenoid

(856)-825-4900




bﬁro 2ITAN

SPECIFICATIONS

Sea Era Toilet Requirements:

Wiring:

Circuit:

Power:

Water Supply:
Discharge:

Optional:

10 ga., will increase depending on distance from source

12V = Freshwater model 25 amp
Intake pump moded 25 amp

Freshwater Model 132 amps
Intake Pump Model 23 amps

3% line 3 gallons per minute, minimum pressure Spsi
1.5" ID hose required for 90 degree discharge and straight accepts either 17 or 134"

wall switch controd, holding tank full indicator on switch

Sea Era Dimensional Drawings

|

17 3"
(441mm)

Hnuaahald-awla

u&zrnml

=

17 38
(441mm)
Househok-ste

13 1/2" (343mm) 19 1/2" (485
Household-style stéhuld"-aTr}Fe
13" (330mm) Marine-size
.|
]

D [ ¢

{43211'-11]

T

= |
(168mm)

13 142" (343mm)

19 1/27 (495mm)
Housshold-style Household-style
13" (330mm) Marine-gize 17" (432mm) Marine-size
[ — — 1

—

Wmmmamm" @aimm) \ /
H mm
ouse Hnusemld-slarla

{432mm} D_I]_C

&8 _|
(168mm)

RARITANeng.com

1
18"
(282mm)




SPECIFICATIONS bﬁ.a.qcmm

Sea Era Exploded View

—SOLENOID VALVE

~ ATMOSPHERIC
VACUUM BREAKER

Optional th\
water Strainer 64

(856)-825-4900

Remote intake pump is also used
in Marine Elegance models.




N ARITAN

Sea Era Parts List

ltem# Parl# Description

1 1237 Marine-size Bowl

1 1244 Household-style Bowl

2 1236AW Bowl Spud Assembly

3 1236E Bowl Elbow

3 41-260 Bowl Elbow (Freshwater Models Only)
5 1234 Bowl Gasket

6 VCAP White Vinyl Cap

7 12268 1/4-20 Hex Mut (4)

8 RNI Shoulder Washer

9 CH38 Water Solencid Valve Mounting Bracket
10 161105 Base

" C254 Joker Valve

12 161130 Discharge Fitting

13 1222AW 80" Discharge Fitting

14 161125 Discharge Mounting Flange

15 F164 Discharge Mounting Flange Fastenern(4)
16 161107 Seal Plate O-Ring

17 1108A Macerator Nut

18 M23A Macerator Lockwasher (5)

19 161123 Macerator Blade

20 161120 ImpellerMacerator Housing

21 161115 Impeller

22 3102 Shaft Seal

23 161110 Seal Plate

24 1610° Discharge Motor

25 HWA1 Mounting Screw Lockwasher (4)
26 1226 Mounting Screw (4)

28 164000 Push Button Switch

248 Fi72 Plastite scraw #10 x1/2"

30 FOO05 Set Screw

3 1623254 Bearing Plate Assembly includes #162315
az 162305 Lower Housing includes #162315
33 162320 Piston Seat (4) includes #162315
34 162310 Diaphragm includes #162315

a5 162315 Piston (4)

36 162300W Lower Housing Assembly

a7 162205 MIDDLE HOUSING

as 162225 O-Ring

38 162200W Middle Housing Assembly

40 162135 Cone Seal

41 162420 Fitting Clip (3)

43 162425 Fitting O-Ring (4)

44 F144 Mounting Bolt Washer (4)

45 162405 3/4" Hose Barb - 90° Fitting

47 162415 Plug Fitting

48 F182VT Mounting Bolt

48 162 100W Upper Housing Assembly

50 162410 3/4" Hose Barb - Straight Fitting (2)
51 180601 Inline Fresh Water Strainer (optional)
61 163000 Inline Strainer

SPECIFICATIONS

tem# Part# Description

Additional Parts Included with INTEGRAL MODELS

27 161140 Motor Cover Integral

Additional Parts Included with REMOTE MODELS

27 161135 Motor Cover

62 1660° A Intake Motor
166000 Remaote Intake Pump, 12V DC
166100 Remote Intake Pump, 24V DC
166200 Remote Intake Pump, 32V DC

G4 16200W Remaote Intake Pump W/O Motor

Additional Parts Included with FRESHWATER MODELS

4 PLAT4 12MNPT X 3/4 Hose Barb

27 161135 Motor Cover

59 PLAVBO-5 Atmospheric Vacuum Breaker

60 PLA13 12 MNPT to 3/4 Hose Barb Elbow

63 CWPSMB Water Solenoid Valve Mounting Bracket

66 CWPS*B 172" GC Solenoid Valve

Repair Kits
DIAPUMPRE  Diaphragm Pump Repair Kit
SEADISRK SeaEra Discharge Repair Kit

* Specify DC Voltage (12, 24, 32)

RARITANeng.com




SPECIFICATIONS @?L_a_q.Tﬂ_.,

Repair Parts
Most parts are available to be purchased individually, to simplify annual overhaul or repairs we also provide kits that
contain the most commonly ordered parts.

DETERMINING PROPER REPAIR KITS FOR ELECTRIC TOILETS:

Product Name Retrofits Repair Kit for Intake Discharge
Complete Linit Pump Pump
Aflantes Freedom el bk e HAPUMPRE
Bedore 485 inlet pump repars discharge pump kits
contact Rantan tech supporl.
Atlantes
Fricihnvates Model &g AF12 A A ATDISRK
01780~ curmen
Atlantes udlri'ﬂn.lcl“' P, ATDHSEK
uwmu- of Infegenl lngsdled Pump dinchangh pump
Atlantes udlri'ﬂn.lcl“‘ DEAPLMPRE ATDHSEK
or
Remole of Integral Diaprahm Pumg dischange pump
DO 12% Draws 50 Comverts DO ko GO CoRK
Gves over e
GmnHiu:ad . CHRE CHPUMPRE CHDISRK
01-65 -017/87
cn Head CSRK COPUMPRE CODISRK
T D A )
T= ouamesnd
Crown Head |1 A NeA CODISRR
Pressurised Fresh Water Model e.9. C2F12
1200-
Crown Head |1 croer iniake s COPUMPRE CODISRK
ik witth 5P Intaka Injsder Pump dischargs pump kils
1200- 4785
Cumn-;linadtllm udlri'ﬂn.lcl“' P, CODESK
mmmﬁm Impaliar Pumg dinchangh pump
contact Raritan bech
Crown Head 11 crdar intaks and DHAPUMPRE CODISAK
with Intks Purg g kit
canrend
PHE and PHEII
et b chan ke mannual iadets
Sea Era DHAPUMPRE SEADISRE
Al Models
Marine Elegance HAPUMPRE MERE
Al Models

LIST OF PARTS CONTAINED IN ELECTRIC TOILET REPAIR KITS:

ATOIERK ATLANTES DISCHARGE PUMP KIT  OTY CHOMGRK CROWHN HD. (PFRE 10/87) ary
H-102 MIOTOR SHAFT SEAL i 1234 BOWL GASKET WHITE 1
ARADEY 23 PVC CONNECTION i G5 €253 JOKER WALVE RED 1
AR DISCHG. PUMP O-RING 1 CHITITW FLAPPER WALVE ASSY. 5TD 1
A4 C-RING 1 CHES CH: FRONT COVER O-RING 1
Casd 254 JOKER WALVE 1 CHST RLEBER SUINGER 1
SLICC SUPER LUBE: 1 CC PACKET 2 CHES SEAL- 316 515 SPRING 1
¥t WIBRA-TITE PACKETS 2 CHN ROUND RUBBER GASKET 1

CHaz SOUARE RUBSER GASKET 1
ATPUBMIPRE ~ ATLANTES & CHIl (POST 4/25) aTy M1l O-RING 2
02 MIOTOR SHAFT SEAL 1
H-MTE O-RING: T-CHECK ASSYRCY 1 CHPUMPPRE  CROWN HD, (PRE 10/8T), GM aTy
AR IHLET PLIAP IMPELLER 1 CHI PLUMP SHAFT SEAL 1
ARED ATLANTES INLET PUMP FRONT i CHIZ CHECK BALL: 58 1
AMS14 O-RING 1 CHTA PUMP GASKET 1
CHIZ CHECK BALL: 58 1 G13 GA3W PUMP IMPELLLER 1
G15 TEFLOH IMPELLER WASHER 2 G15 TEFLOM IMPELLER WASHER 2
G2A5 BRASS WEAR PLATE 1 GRAS BRASS WEAR PLATE 1
SLICC SUPER LUBE: 1 CC PACKET 4 G PLUG WASHER 1

SL1CC SUPER LUBE: 1 CC PACKET 2
CODOISARK ~ CROWN HD. CD SERIES DISCH ary
124 BOWAL GASKET WHITE 1
€253 G253 JOKER WALVE RED 1 DIAPLIMPRE DAAPRAGHM PUMP KIT aTy
CHI2 DISCHG. PUMP WALL, BLACK i V2200w MIDDLE HOUSING 1
CHI% CH: FRONT COVER 0-RING i 182340 CHAPHRAGH 1
CHET RUBBER SLINGER 1 182315 PISTON +
CHSG BEAL: 316 55 SPRING i 162425 O-RING 3
CHa2 SOUARE RUBBER GASKET 1 FiT2 SCREW: 10 X 172 4
SLICC SUPER LUBE: 1 CC PACKET 2

SEADISK SEAERA DISCHARGE KIT ary
COPUMPRE CROWN HD. CD SERIES aTy 1234 BOWL GASKET WHITE 1
120381 PHE IHLET WALVE O-RING i 1enar O-RING i
02 MIOTOR SHAFT SEAL 1 -0z MOTOR SHAFT SEAL 1
CHIZ CHECK BALL: 5% i C2%4 G254 JOKER WALVE 1
CHT PLIAP 1 Rl NYLON SHOULDER WASHER 4
G13 GAIW PUMP IMPELLER 1 SL1CC SUPER LUBE: 1 CC PACKET 1
G15 TEFLOH IMPELLER WASHER 2 WCAP WINYL CAP 4
G WEAR PLATE 1
SLICC SUPER LUBE: 1 CC PACKET 2

MERK MARINE ELEGANCE ary

DISCHARGE KIT

221105 O-RING 1

21235 JOKER VALVE S

02 MOTOR SHAFT SEAL 1

(856)-825-4900




S S— SPECIFICATIONS

PHIl & PHEII Dimensional Drawings

inches(mm)
P-47

DK/&/%
|

B
2
15 !  aMd I c
18 (70) B
E385) A
BOWLTYPE | A B c D r N
....' . ...I. I\__I__/I
MARINE 20 1738 1012 | 1414 | 18 i .
(588) | (442) | (267) | (362) | (458) R
HOUSE-HOLD| 223/4 | 203/8| 113/4 | 141/2| 181/4 ] T s
(578) | (518) | (300) | (368) | (464) JF R S AR
i L I"\ - H Al =
INCHES 4 /s

(MM) /=D

RARITANeng.com




SPECIFICATIONS bjﬁ_a_.q_lrnu

PHII Exploded View

@ | 28 2P

; 12 ';)*r._.:?
g '

23

= ~p— 21

= ‘"]

(856)-825-4900



[+

N aiTAn

PHII and PHEII Parts List

ltem #

@ en ok R =

10
1

13
14
15

20

21
22
23

25
26

28
29

k)
32
33

35
ar

39
40
41
42
43

Part #

1115
1124
1200CW
1201
1202
1203BW

1203W
12048
1206W
1200B8W
1210
12104
1211PL
1212W
1213W

1213A
12138
1213C
12130
1214W

1216
1217
1218
12228W
12228
12238
1226
12268 Mut,
1228CW
1232M5
1234
1236E
1246W
1248W
1249
1250W
c253
CH42
CH43FP
Foos
FO81
LWs
RMI

Description

3/8°16 x 1 1/2" Hex Head 3/5 Bolt(2)
1/4°- 20 x 1/2" R.H. Machine Screw
Pump Housing

Intake and Discharge Valve Ball (2)
Intake and Discharge Valve Gasket (2)
Intake Valve Body wi"0" Rings (12038,
1203B1, 1203B2, 1203B3)

Air Valve Assembly

Intake Valve Cap

Handle

Valve Handle

Handle Socket

Cotter Pin (4)

Piston Rod Yoke

Piston Rod Assembly wi™0" Ring (1232MS)
Piston Rod Seal Assembly, Pre-6r92,
(Incl. 12134, B, C, D)

U Cup Seal (Pre-6/92)

Delrin Washer (Pre-6/92)

Snap Ring (Pre-6/92)

White Neoprene Washer (Pre-5/92)
Piston Shaft Seal Cartridge Assy
(1214, 12144, 12148)

Fits pumps mig. after 6/92

Clevis Pin (3}

Discharge Valve Cap

Fulcrum Link (2)

90° Discharge w/Flange (Std.)
Straight Discharge (Opt.)

Flange Nut 3/8"-16 S/5 (2)

Housing Screw 1/4"-20 x 1" S/5 (4)
1/47-20 SIS (B)

Flapper Valve Assembly (1/2" Holes)
Piston "0" Ring

Bowl Gasket

Bowl Elbow

Base Cowver (2 pcs.)

Base wiPlug

Base Plug

Base and Cover Assy.(1246W and1248W)
Joker Valve

Hose (_" L0}

Hose Clamp (2)

114" 20 x 5MB" 5/5 Socket Set Screw
Bowl Bolt 1/4"-20 x 2 S/5 Hex head
Intake and Discharge Valve Spring (2)
Nylon Shoulder Washer (4)

SPECIFICATIONS

tem# Part # Description
PARTS FOR ELECTRIC DRIVE
1100w Gear Box Housing Assembly
1102 Worm
1104 Ball Bearing
105 Snap Ring
1106AS Rubber Connection wiSleeve
1106W Coupling wiSleeve, complete
11084 Motor Mounting Nut (2)
1109* Motor (12, 24V DC)
1110 O Ring
1112 Link
1113 Link Pin, Warm Gear Pin
1115 378" - 16 x 1 1/2" Hex Head 5/5 Bolt
11154, 38" - 16 Hex Jam Nul S/S
1116BW Connecting Rod Assy. (1116B. 1114B, 11140)
11178 Crank Bolt
1118 Lock Washer (4)
1119/11194  Hex Head Screw (4}
1120W Worm Gear Assy.(1111, 1113, 1120)
1122 O Ring
1123 Gear Box Cover
1124 1/4%- 20 x 1/2" R.H. Machine Screw(4)
M234 #10 Lockwasher 5/5 (2)
PHC PARTS
45 12264 Housing Screw 1/4°-20 x 1 1/4" S/5 (4)
47 1226C Plastic Spacer Washer (4)
45 1301PW Toilet Base Assembly (1301P, 1343)
41 Foa1 Bowl Bolt 1/4"- 20 x 2" SIS Hex head
BOWL & SEAT
1236AW Spud assy.
1237TW Marine-size Bowl assy.
1244W White Household-style Bowl assy.
12384 Marine-size seat & cover
1245 Household-style seal & cover
VCAP Vinyl Cap(4)
OVERHAUL KITS
FHREEI PHII&PHEIN-U-cup Seal {mfg.beforet/92)

PHRKINC PHIIEPHEN-Cartridge Seal (mig.after 6/492)
PHIPUMF  PHIl Pump replacement assembly

CONVERSION KITS
PHECKII® Conversion Kit from Manual to Electric

RARITAN INSTALLATION ACCESSORIES

163000 In-Line Strainer
164000 Push button switch
1PCP22 C.P, Cleans Potties, Bic-enzymatic, 22 oz.
CHTII Compact holding tank - 5 gallon
CON22 Concentrate 22 oz. bottle
SH Sanitation Hose (sold by the foot)
SL Super Lube 172 oz. tube
TWK Toilet Water Marine Head Disinfectant Kit
WL 34 Vented Loop 3/4"
VL1172 Vented Loop 1 1/2"
Y ¥ Valve
“Specify Voltage

RARITANeng.com




SPECIFICATIONS

Compact Il Parts List

ltem# [Part &

1 1115

2 1214B

3 12228W
3 12228

4 1223B

5 12264

B 12268

T 1226C

8 1228CW
9 1234

11 1301PW
12 1IEMS
13 1343

14 1346

15 1347

16 1348

17 1348w
18 1350W
19 1353

20 1354

29 1355

22 1356W
23 1357

24 1358W
25 C253

26 CH42
27 CH43P
28 FO20

29 FO81

Description

HE-16x1 172 Hex HD 575
O Ring
900 Discharge EIl wiflange

Discharge Fitting - Straight (Optional.not shown)

3/B - 16 S/5 Mut (2)

1/4 -20 x 1 1/4%, RH S/S Screw(4)

1/4 - 20 Nut, S/S (8)

Plastic Spacer Washer (4)

Flapper Valve Assembly

Bowl Gasket

Toilet Base Assembly (w/drain plug)
Piston "0" Ring

Plastic Drain Plug. 1_" NPT

Check Valve Housing

Separator Plate

Cam

Shutoff Handle w/seal

Check Valve Assy. (1350,1351 & 1352)
Bumper Washer (2)

Flushing Handle

Pump Housing, Compact Il

Seal Cartridge Assy. (12148 & 1357)
U-Cup Seal (2}

Piston Rod Assy.(1316MS, 1353 & 13504)
Joker Valve

Hose (3/4" 1.0.)

Hose Clamp, Nylon (2)

#10 Self-Tapping Screw (6)

Hex head Cap S/S Screw (1/4-20 x 27} (4)

Compact Il Exploded View

Part #

Major Subassemblies
CPIILBA

CPIIPump

BOWL AND SEAT
1236AW

1236E
1237TW

12384
Other Accessories
163000
1PCP22
RNI
TWK
CON22

CPRKII
SH

SL

Description

Compact Il Pump and Base Assy,
Complete
Compact Il Pump Assy. Complete

Spud Assembly (supplied wibowls)
(ot shown)

Bowl Elbow

Marine-size Bowl Assembly

(w1 236AW spud assy.)
Marine-size Seat and Cover

In-Line Strainer

C.P., Cleans Potties, Bio-enzymatic,
22 0z,

Shoulder Washer (4)

Raritan Toilet Water Kit. Allows Raritan
"Concentrate” o be metered into the flush
water,

Raritan "Concentrate™ head deodorant
and lubricant.

Compact Il Repair Kit

112" L.D. Sanitation Hose

(sold by the foot)

Super-Lube 1/2 oz, lube

(856)-825-4900



ﬁggqrmm SPECIFICATIONS

Compact 1l Dimensional Drawing

— ~ e —
( ) ( - o T
| =
13 3/8 ﬂ_
(340) T
™~
g 4
' i — = TR
chd T A=
13 3/4 B 17 _
(349) (445)
(445)
inches(mm)

RARITANeng.com




SPECIFICATIONS bjﬁ_a_.qtrnu

DETERMINING PROPER REPAIR KITS FOR MANUAL TOILETS:

Product Name Retrofits Repair Kit
Compact CPIIRFK CPRKNI
01/72- 1994 Converts CP to CPII

Compact Il CPRKII
PH& PHE PHIIPUMP - PHRK
PH= Mannual Only Converts PH to PHII

PHE= Electric or Mannual can not convert PHE

01/68- 11/81 must buy PHEI

PHII & PHEII PHECKII - PHRKII
Inlet knob - 1/4 turn Converts mannual PHII

Piston - U cup seal with snap to Electric operation

ring 11/81- 06/92

PHII & PHEII PHRKIIC
Piston - Hex Head Nut Seal

06/92- current

(856)-825-4900




o

' I—— SPECIFICATIONS

LIST OF REPAIR PARTS CONTAINED
IN MANUAL TOILET REPAIR KIT

Toilet Repair Kits

3

CPREKNI Compact Repair Kit

PHRHII PH & PHE Repair Kit aTy
:ggscw ﬁf:;ﬁlirsuf :f?:r her :' 110 O-Ring 1
1234 Bowl Gasket White 1 :g?iﬁ PH: E’?::Tpcap sasket f
1306 Valve Shaft Retain. Ring ! 12138 PH: Delrin Washer 1
1310W Check Valve Assy 2 121360 Snap Ri 1
1314 Delrin Gasket: Check Valv 1 P Fing
) . 12130 White Necprene Washer 1
1316 Piston O-Ring 1 .
. 1226C Plastic Spacer Washer 4
1318 Plastic Washer 1
. 1228CW Flapper Valve 1
1320 Piston Rod Seal 1 . . .
) 1232M5 Piston Multiseal O-Ring 1
1321 Seal Snap Ring 1 ;
. 1234 Bowl Gasket White 1
134501 White Rubber Washer 2
C253 Joker Valve 1
C253 Joker Valve 1
CHa4 Fiber Washer 1 RMNI Mylon Shuu!der Washer 4
RNI Nylon Shaulder Washer 4 SL1CC Super Lube: 1CC Packet 3
SLICC Super Lubec 1CC Packet 2 PHRKIIC PHIl & PHEIl Repair Kit ~ QTY
CPREN Compact . Repair Kit QTy 1201 PH: /4 Valve Ball g
) 1202 PH: Valve Cap Gasket 2
12148 O-Ring 1 120381 PH: Inlet Valve O-Ring 1
12260C Plastic Spacer Washer 4 ) ;
120382 FH: Inlet Valve O-Ring 1
122BCW Flapper Valve 1 ) .
) 1203B3 PH: Inlet Valve O-Ring 1
1234 Bowl Gasket White 1 12144 Shaft Seal 1
1316MS Compact |I: Multiseal O-R 1 19148 O-Rin 1
1350W Compact Il Inlet Flapper 1 g -
: 1214 1214WPHII: Piston 1
1353 Compact |l: Bumper Washer 2 )
) ) 1226C Plastic Spacer Washer 4
1356 1356W CPII: Cartridge 1
) 1228CW Flapper Valve 1
1357 Compact |l: U-cup Seal 2 . . .
1232M5 Piston Multiseal O-Ring 1
C253 Joker Valve 1 ;
1234 Bowl Gasket White 1
RNI MNylon Shoulder Washer 4 £253 Joker Valve 1
SL1CC Super Lube: 1CC Packet 2 RNI Nylon Shaulder Washer 4
SL1CC Super Lube: 1CC Packet 3

RARITANeng.com




SPECIFICATIONS bfngrrﬂul

Managerm Dimensional Drawing

— {

L 56 1/2 _
(1435)

inches [mm)

(856)-825-4900



%

InAITAN

SPECIFICATIONS

Managerm Parts List

Part # Description
840101 Primary Treatment Tank Assembly
54102 Manway Lid, 16"640103Ring/C
Gasket, 16"
540104 Manway Lid, 8"640105Ring/C Gasket. 8”
540111 Filter Brush (3) - [Not shown]
FiT1 Screw, #8-32 x 3/4" Plastite, 18-8 black
5640116 Dispenser
PLCF1-5 1% Flex Coupling
PLCAP3-OW Dispenser Cap, w/0" Ring
540201 Secondary Tank Assembly
1PKO22 K.O. - Kills Odor, 22 oz.
640121 Startup Enzymes, 12-B Count
Sewage Enzyme, 3 oz.
5401120 Air Pump, 120 VAC
640143 Air Hose, Clear PVC, 58" 1.D. x 3/4"0.D.
540205 Bio-Sanitizer Tablets (not shown)
540130 Air Pump Filter
640135 Air Pump Repair Kit

Managerm Dimensional Drawing

17
(432)

24
(6 1 0 ) inches [mm]

RARITANeng.com




SPECIFICATIONS @?;_,,_q.-_,-,,_.,

Electroscan Exploded View

(856)-825-4900



bﬁ?aqrrnu SPECIFICATIONS

Electroscan Parts List

Item & Part# Description tern# Part# Description
1 32-102AW  Mixer Motor 2 1/2" Dia. 12 VDC 33-3003 Four gallon salt feed tankw/24 volt pump
1 33-102AW  Mixer Motor 2 1/2" Dia, 24 VDC {not shown)
1 34-102AW  Mixer Motor 2 1/2" Dia. 32 VDC 32-7000 12 V DC Treatment Unit - No Control Unit,
2 3121 Hose Fitting (2) System Status Panel or LCD Display
3 31120 Discharge Elbow 90° 33-7000 24\ DC Treatment Unit - No Control Unit,
7 31-103 Motor Shaft Bushing (2) System Status Panel or LCD Display
B 31-106 10-32x7/8"RHMS 5/5 (4) 34-7000 32 V DC Treatment Unit - No Contral Unit,
a 31108 Mixer Impeller System Status Panel or LCD Display
10 21-110-1 Impeller Bolt, 12-24x5/8", 5/5 (2)
11 31-110-2 Impeller Lock Washer, #12, 5/5 (2) Control Parts
12 31114 Cover Hold Down Nut, 10-32 (18) 31-18 Cable for LCD and System Status Panel
13 31-115 Treatment Tank (not shown)
14 31122 Intake Plug 33 31-702  LCD Display
15 32-5000 Electrode Pack 12 VDC 32 31-705  System Status Panel
15 33-5000 Electrode Pack 24 VDC 31 32-700  Control Unit 12V
15 34-5000 Electrode Pack 32 VDC 31 33-700 Control Unit 24V
16 31-112 Cover Gasket 31 34-700  Control Unit 32V
17 31-108 Macerator Set Screw, 8-32x3/16", 5/5 WAESDIT  Wire Harness (not shown)
18 31-107 Macerator Impeller 311 Cable Clamp 1/2 x 1/2
19 3101w Treatment Cover 3N-T7 Insulating Bushing (4)
22 32-101AW  Macerator Moter 3" Dia. 12 VDC ETP1 Terminal Protector Red
22 33-101AW  Macerator Motor 3" Dia. 24 VDC F110 Screw 6 x 1/2 Phil Pad HD {4) to mount
22 34-101AW  Macerator Motor 3" Dia, 32 VDC Display and Start/Stop button
25 31-104CW  Crossover Plug with o-ring(26)
26 31-105 O-Ring 4 ESTRK Repair KIT includes following parts
28 ETB2 Terminal Block Part # Description
29 31-113-2 Terminal Block Bolt (2)
30 31-134 Cover Hold Down Screw 10-32 x 1 Hex({16) 31-102 Motor Shaft Seal (2)
51 M31 Electrode #14 Brass flat washer (4) 31-102-1 Macerator Seal Washer
52 M30 Electrode Mut 1/4-20 Brass (4) 31-102-2 Macerator Retaining Ring
31-102-3 Mixer Seal Washer
Status Panel or LCD Display 31-102-4 Mixer Retaining Ring
7 31-103 Motor Shaft Bushing (2)

SALT FEED SYSTEM (not gshown) 26 31-105  O-Ring

31-3001 Salt tank unit complete, two gallon 8 31-106 10-32x7/8"RHMS SIS (4)

(not shown) 16 31-112 Cover Gasket
31-3002 Four gallon salt feed tank (not shown) 29 31-113-2 Terminal Block Bolt (4)
32-3003 Four gallon salt feed tank w12 volt pump 12 31-114  Cover Hold Down Nut, 10-32 (4)
(not shown)

Electroscan Dimensional Drawings

st

13112 L ]
[339]

[‘“B] [222] b1 L~

inches [mm]

RARITANeng.com




bjpa ITAN

(856)-825-4900

Hold N’ Treat Exploded View

SPECIFICATIONS




bﬁq.aq*lrnu SPECIFICATIONS

Hold N’ Treat Parts List

Item & Part # Description
1 21T15 Haolding tank 15 Gallons
2 EST* Electro scan, xx voltage
3 PLB1-54P 1 172" X 1"bushing, MIPT X FIPT
4 1242 # 14 Hose clamps for 1" hose
4 PLEAS1-0P 1" Elbow, Combo, INSERT X MIPT
B 1326 1" hose
B 21P*P Macerator pump
10 PLCF1-2EP Coupling Flex 1 1/4" EFDM
12 21PDIP1 Dip tube assembly
13 640107 1 1/2 IN, seal
14 21P155 Sensor tube assembly
15 21P155H Sensor high level
16 21P185L Sensor low lelel
17 ETE4 Terminal block (not shown)
17 21PBASE cover for sensor
214 Macerator Pump Relay (not shown)
EFHO1 In Line fuse holder
EF5 5 amp Fuse
EF30 30 AMP, ATC, fuse
*specify voltage

Hold N’ Treat Dimensional Drawing

ﬁﬁn% _ H

—ho , [ 1 118 1/4

(464)
O

- 26 18 1/2 :
(660) (470)
inches [mm]

RARITANeng.com




SPECIFICATIONS qu_a_.qlrnu

Purasan Parts List

ltem# Part# Description em# Par# Description
1 32-102AW  Mixer Motor 2 1/2" Dia, 12V DC 43 41-301 Control Box w/Cover and Screws
1 33-102AW  Mixer Motor 2 1/2" Dia. 24 V DC 45 F41-312 Standoff (4)
1 34-102AW  Mixer Motor 2 1/2" Dia. 32 V DC 47 CH48VT Circuit Board Mounting Screw (4)
2 I Hose Fitting (2) 49 42-303 Circuit Board, 12V DC
3 31-120 Discharge Elbow 90c 43-303 Circuit Board, 24 V DC
6 31108 Cover Hold down Bolt, 10-32 x 7/8", 5/5 44-303 Circuit Board, 32V DC
(18) 42-300 Electronic Control Complete®, 12 V DC
T 31-103 Motor Shaft Bushing (2) 43-300 Electronic Control®, 24 WV DC
8 31-113-3 Motor Hold down Bolt, 10-32x1", SIS (4) 44-300 Electronic Control®, 32 V DC
2] 31108 Mixer Impeller “Incl. #43, 45, 47, 49
10 31-110-1 Impeller Bolt, 12-24 x 5/8", SIS (2) 50 41-110 Vent Kit for Tablet Dizspenser (Incl. #53, 23,
11 31-110-2 Impeller Lock Washer, #12, S/5 (2) & 55)
12 31-14 Cover Hold down Nut, 10-32 (18) 51 M31 #14 Brass Flat Washer (4)
13 31-1156 Treatment Tank 52 M30 1/4"-20 Brass Nut (4)
14 31122 Intake Plug 41-100 Tablet Dispenser Complete(less cartridge)
15 41-102 Tank Divider 41-200 T-Fitting (Incl.34)
16 31-112 Cover Gasket 42-1000 Treatment Unit Complete 12 WV DC
17 31-108 Macerator Set Screw 43-1000 Treatment Unit Complete 24 V DC
18 3107 Macerator Impeller 44-1000 Treatment Unit Complete 32 WV DC
19 31-101W Treatment Cover CDs* Continuous Duty Solenoid
22 33-101AW  Macerator Motor 12 WV DC PSTDCO3 Purasan Dual Contral
22 34-101AW  Macerator Motor 24, 32 vV DC 53 41-111 Check Valve
23 31-305 1/4" 1.D. Tubing 55 41-106 T Fitting
24 411156 Union Tee 1/4" Barbed 55 31-325 Adapter
25 31-104CW  Crossover Plug with o-ring (26) 57 31-319 318" x 1 3/4" Tubing
26 31-105 O-Ring 62 PSTRK Purasan Repair Kit includes following
28 41-130 Dispenser Body (PVC) 3102 Motor Shaft Seal (2)
29 41-135 Cartridge (refill) PURASAN Tablets 31-102-1 Macerator Seal Washer
Mote: Cartridge must be shipped in a 31-102-2 Macerator Retaining Ring
separate container, call 856-825-4900. 31-102-3 Mixer Seal Washer
n RWSS O Ring 31-102-4 Mixer Retaining Ring
32 41-131 Dispenser Cap 31-103 Motor Shaft Bushing (2)
34 31-307E O Ring 31-108 O-Ring
39 41-350 Switch Panel Complete 31-106 10-32x7/8"RHMS,5/5 (4)
40 41-355 Control Cable 31-112 Cover Gasket
41 31-304C Flow Metering Clamp
42 az-218 Fuse: F1, MDL & 1/4 (12 WV DC, 1 Reqg'd.) Other Parts Not shown
42-220 Fuse: F2, MDL 12 (12 VvV DC, 1 Req'd.) Pressurized Kit Part # 4*-254W
32-218 Fuse: F1/F2, MDL G 1/4 (24 WV DC, 2 Reg'd) Pump Kit Part # 41-253W

34-218 Fuse: F1/F2, MDL & (32 V DC, 2 Reg'd.)

Purasan Dimensional Drawing

13112

8 34
T 222

o=

inches [mim]

(856)-825-4900



L}i}amm” SPECIFICATIONS

Purasan Exploded View

RARITANeng.com



Dependable Name on the Water.

oy

-I A
3 i\

-,

r

4

| |

1 | . IL
'F‘. \
Y EL e
|'|_ 11N

fale, FL 33315



